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ICENTIFICARTION

PRODUCT CODE: MARINDEC-11-DCkBI-B-D -
PRODUCT NRME:  ASH INSTRUCTION TEST

CATE RELEASED: OCTOBER, 1976

MAINTARINER: DIAGNOSTIC GROUP

COPYRIGHT 1972,1976 BY DIGITAL EQU mm CORPORATION
THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE RITHOUT
NOTICE AND SHOULD NOT BE CONSTRUED RS A COMMITMENT BY DIGITAL
EQUIPMENT CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES
goocwramrv FOR ANY ERRORS THAT MAY APPEAR IN THIS

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER A
LEECM AND MAY ONLY BE USED OR COPIED IN RCCORDANCE WITH
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1.0 RESTRACT

THIS PROGRAM WILL INCREMENTLY TEST AND ISOLATE SIMPLE MALFUNCTICHS
RELATED TO THE ASH INSTRUCTION

e.0 REQUIREMENTS

2.1 QUPME
B4 SYSTEM OR
11746 WITH KE11-E OPTION
2.2 STORRGE
THIS SROGRAM USES 0 THRU 17500
2.3

PREL "NINRRY PROGRAMS
DORA THRU DOMA
3.0 LOADING PROCEDURE
LORD PROGRAM USING RBS LORDER
4.0 STRF.TING PROCEDURE
LOD ADDRESS 200. PRESS START. THE PROGRAM WILL LOOP AND
RING THE BELL, AND PRINT AN ’"#', ON PRSS COMPLETION.
S.0 JPERATING PROCEDURE
S.1 SHITCH SETTINGS
NONE

5.2 SUBROUTINE ABSTRACTS

S5.2.1 SCOPE

SCOPE IS A MOVE PC,R1 AND STORES THE PC+2 IN RIl.
S.2.2 HT

HLT IS A HALT INSTRUCTION.
6.0

ERRORS
ALL £RRORS RILL CAUSE A HALT
TRAP AND INTERRUPT ERRORS WILL CRUSE R HALT AT VECTOR+2.

5.1 ERROR RECOVERY
PRESS CONTINUE TO PROCEDE TO NEXT TEST

6.2 ERROR LOOPING

TO LOOP ON AN ERROR mnmurommvxousscops

INSTRUCTION IN PLRCE OF THE MALT INSTRUCTI

NOTE THAT IF THE ERR IS INTERMITTANT Tunr THE TEST WILL
THRU THE mu PROCEED TO THE NEXT TEST.

THEREFORE, TO LOOP THE TEST CONTINUOSLY REPLACE THE BEQ .+

INSTRUCTION IMMEDIATL scﬁmm THE HALT WITH A BRANCH

BACK TO THE PREVIOUS

TO LOOP ON TRAP FAILURES, PATCH m THE FOLLOWING ROUTINE

TRPVEC: RAPVEC+Y
TRRPVEC+2:

28R28 88 IRRLBB28IBIRRPER2B I Yot Zdnl N S E LR L E LIS DB GRS

F
AT THE RODRESS OF THE TRAP VECTOR
T
0

Pt Pt Pt Pt P
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7.0

8.0

8.1

8.2

9.0

9.1

%

.TITLE MAINDEC-11-DCKB
; COPYRIGHT 1972,1976 DI

DOl

01-0CT-76 13:03 PAGE Y4

TRAPVEC+4: 012716 ;MOVE SCOPE ADDRESS TQ STACK
TRRPVEC+6: RODRESS ;RDDRESS OF PPEVIOUS SCOPE
TRAPVEC+10: 000006 ;RETURN TO TEST AT SCOPE
RESTORE ALL LCCRTIONS BEFORE PROCEEDING TO NEXT TEST.

RESTRICTIONS
NONE

MISCELLANEQUS

ON TRAP ERRORS THE STQCK POINTER(RE) WILL CONTRIN THE
RDDRESS WHERE THE TRAP OCCURED.

EXECUTION TIME

THE PROGRAM TAKES ABOUT 1 MINUTE.

STRCK POINTER

THIS PROGRAM INITIALLY SETS THE STRCK POINTER AT SOO.
PROGRAM DESCRIPTION

THIS IS R TEST OF THE ASH INSTRUCTION.
WITH DIFFERENT SHIFT COUNTS IN ALL THE REG

IS
NOTE: THE #RST RGJTIPE IN THIS DIAGNOSTIC %? NS!GFED T0

vsaxrv THA /FCO M7238-0004 (11740 ONLY)
N xmr« m&m TONING mv. THIS ECO/FCO
nmc THE umo ) OPTION ONLY: THUS. AL 11/45°S
S THIS ROU ALSO, THE ECO mé BEEN PHASED INTO
mogrxousou 1msu17hncm39nouunmmssm
ROU}iNE IN MANUFACTURING.
r{a.o SERVICE - aé M7238 MOOULES I TING THIS ECO OR FCO
WiLL u-7E CS REVISTON E OR AND MUST PRSS THIS ROUTINE.
ANY M7238 MOOULE BELOW THIS CS nsvxgxou u:vqf MILL FRIL THE
ROUTI;%. TH]S gc;pmeu ONLY 1F THE CUSTOMER SOF TWRRE
B e e o
UsIinG x& fm Ti0N m&”F '? asrm's&?&’ooes
MAKE USE OF THIS oecnsrcmso opsmm THEN FCO M7238-000M
S REV. E) MUST BE INCORPORRTED AND chs; ROUTINE IN THE

OULE 15 NOT REQUIRED 10 PSS T ROUT TN TLEN HE
Rar TNGART The IATE COE 10 TP FRON THE ' SCOPE”
INSTRUCTION TO 'ENDPRS', THUS BYPRSSING THE ROUTINE. SEE

THE ECO OR FCO FOR MORE’ INFORMATION.

[-8 ASH TEST
GITRL EQUIPMENT CORP., MAYNARD, MRSS

:PROGRAM BY BO8 BRAIN

. ENRBL
TPS=

TPB=
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000S78

000042

013756
177564

177566

001000

004000
000400

177570

MRCYLL 27(?732)

013730

177570

177776
177570

127770

EOL

01-0CT-76 13:03 PRGE S

SCOPE= 107?1
HLT= HAL
PS= 177776
SWR= 177570
DISPLRY=1
DUHHY: HALT
.=0
.=46
SENDRD
.=52
0
.=200
JMP BEGI
.=1000
ICNT: O
BEGl: CMP d842, sSENDRD
BEQ BEG
MOV #MSG1,RS
18 TSTB asTPS
BPL .=
TSTB (S)
BEQ BEG
MOVB (i)#,alTPB
BR 1
BEG: MOV 8500, 76
CLR 88PS
BIT ¢1000, 38SKR
BEQ .+10
MOV #4000, 8PS
BIT 400, J8SKR
BEQ .+10
MOVB S8SKR, 48177770

; TRR= CATCHER 0 - 776

:PRSS COUNT
:AUTOMATIC MODE?
: YES, SKIP
: GE
:CHECK FOR RERDY
:END OF MESSAGE?
*YES, GO START TEST
:PRINT CHARACTER
: ¥4 STACK AT S00 »#
s WHICH REGISTER SET?

; ALTERNRTE !
;LORD UB REG??

HERDER
T _RDDRESS OF FRINT MESSAGE
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012700
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001401
000000

022700
001401
000C00
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01070
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000000
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PN I TRF £

000000

8888858888

001401
00Cg00

177776

=

000C00

MACYLl 27(732)

FOI

01-0CT-76 13:03 PRGE &

s RN R 0SS0 0 000 30 I O ST T 0 0030 T 30 00 30 36 3 9 30 3 30 0 0000 30 30 0 36 3 30 36 9 30 36 0 3 36 36 0 3 2

sTEST |

ASH

O SHIFTED BY -16. =0 PS = 4

(REREREERRERRRARPRBERFERERERAEERERRERBRERRERERRRRRRRRESERE R EEEEEEERE

80, %0 ;LORD RO WITH O

s-16..%0 :SHIFT RO BY -16.

3PS PSi :SAVE PS

c:qpéu 1S THE PS 47

) +THE PS 1S NOT EQUAL TO 4
'9420 1S THE RESULT 0?

;RO IS NOT EQUAL TO O

3322222122222 2232 2823222222222 2222222222822 2322 2222221222222 ¢22]

STE™T 2

ASH

O SHIFTEDBY 0 =0 PS = ¥

s RA AR RT3 I3 I3 I3 33 O3 336 30 0 00 36 30 00 06 36 36 OF 06 S0 303 90 33 00 3 3% 0 3 3% 3 o

SCOPE
MOV

ASH
Mov
CMPB
BEQ
HLT
cMP
BEQ
HLT

80, %0 -LOAD RO WNITH O
80 70 :SHIFT RO BY O
asbg PSW ;snv; PS
s~q S : 1S THE PS 47
I
-THE PS 1S NOT EQUAL TO Y4
coqm 1S THE RESULT 07
i

;RO IS NOT EQUAL TO O

SHANNRENEEEEEEREEEEREEREEEREEEREEEREE R ERE R E R R EEAEEEEEEEEEEEEEEEE

:TEST 3 RSH

O SHIFTED BY 16. =0 PS = &

o SIS 00 SRS 30 6 3036 30 30 0 36 3636 06 36 3696 98 8 S 30 36 30 00 36 36 36 38 36 38 36 36 36 3 06 36 36 36 48 6 36 36 30 96 96 36 38 36 3% 06 36 3030 3 9 3036 30 3

SCOPE

20, %0 :LORD RO WITH O
8ib. %0 :SHIFT RO BY 16.
o8PS PSUW :SAVE PS
.:_,‘psu 1S THE PS 42

s THE PS IS NOT EQUAL TO Y
'24"” ‘1S THE RESULT G?

:R0 IS NOT EQUAL TO O
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001250
001252
001256
001262
001270
Q0le

Bg88
SHEES

[N W]
Panghast
LV

BEgERARSsR
AR 22N

S888888888
ERRZRIGRD

E

a
8
R

i

MRCYL1 27(732)

012454
0l244b

012350
012342
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JRREREERERAEERREREE RN 0000003000000 3608 36 0 06 06 30 30 36 36 36 30 06 31 38 36 36 3 36 36 3 38 36 3 3 % 3 % %

| SHIFTEDBY 0 =1 PS =0
T T T T T T AT P T e T T T T T e

TEST 4 ASH

81,70
20, %0

a3PS_ PSW

cngéu

81,70
.44

;LORD RO WITH |
gHIFT RO BY 0

;1S THE PS 07

; THE PS 1S NOT EQUAL TO G
+1S THE RESULT [°

;RO IS NOT EQUAL TO I

JRERRRFRERERERERRREE NN T T RE TR TR R RT3 T3 9 363038 46 363 9 36 3 46 36 36 3 9 3% %

| SHIFTED BY 1 =2 PS =10
R R R

TEST S ASH

;LORD RO WITH 1
:SHIFT RO BY 1

:SAVE PS

;1S THE PS 0?

; THE PS IS NOT EQUAL TO O
;1S THE RESWLT 27

;RO IS NOT EQUAL T0 2

o JEIR IR I I I T U T 3 36 0 06 36 38 06 SH30 3 36 38 3 01 3090 36 30 38 90 3030 36 390 46 36 309030 38 0 30 96 96 31 36 06 96 36 36 3 38 96 3 3 36 3 %

! SHIFTEDBY 2 =4 PS =0
DERBEREEEEHR N S O R R

:TEST &6 RSH

SCOPE
MOV
ASH

5§¢§°Psu
00 PSuW

84, %0
.+

LORD RO WITH 1
,SHIFT RO BY 2

; SAVE PS
;15 THE PS 07

;THE PS IS NOT EQUAL TO O
;1S THE RESULT 47

;RO IS NOT EQUAL TO 4
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000001

0003
177776
000000

000010

000001

177776
000000

0000C1
177776

0CO040

MARCY1l 27(732)
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i idddd il it ssd ettt sl sl ssslziiszlsdesslsstslitssss,

s TEST 7

1 SHIFTEDBY 3 = 10 FS =0

!l*ll*ill!il!*iiil!lii*ii!i*ii!!*ll!i*!!l*ii!i**li*!lfiii*!lil*!i!!*

01230%
012300

acbs PSW

;LORD RO KITH 1
:SHIFT RO BY 3
s SAVE PS

: 15 THE PS 07

; THE PS 1S NOT EQUAL TO O
;1S THE RESULT 107

;RO IS NOT EQUAL TO 10

5 SIRJEI 00 J0 36 3096 36 3036 6 00 36 36 38 96 96 3638 36 36 38 36 36 308 9090 36 38 36 36 3036 36 30 38 36 36 38 36 36 36 3¢ 36 90 36 38 38 3 9 36 36 36 4% 3 36 30 36 0 3 30 3 2

: TEST 10

1 SHIFTED BY 4 =20 PS =0

ii**i**!iiil*iii!ii!iiiilili!!!iiiillilii!!!li!li!!!ili!il!lilllliii

012244
012236

auPS PSW

;LORD RO WITH 1
SHIFT RO BY H
:SAVE PS
;1S THE PS 07

;THE _PS IS NOT EOURL 00
;1S THE RESULT 207

;RO IS NOT EQUAL TO 20

5 B3I 000 36 30 6 30 30 30 36 96 38 36 38 36 36 3 36 36 48 30 3090 36 303 38 36 3038 3 30 98 3F 30 30 30 36 36 3 30 S0 36 98 46 3036 3 9 36 3096 38 96 96 3 36 36 38 3

s TEST 11

1 SHIFTED BY S =40 PS =0

i!!li!Ii!!i!li!!!li!!l!!ilil!iiiiliill!l!ii!lii!!!!ii!iiililiii!i!!i

2202
2174

[

a:Ps PSW

;LORD RO WITH |
:SHIFT RO BY §
:SAVE PS
;1S THE'PS 07

; THE PS IS NOT EQUAL TO0 O
;1S THE RESULT 407

;RO IS NOT EQUAL TO 40
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DCKB.B. SRC

*i**i*!**l*li!i*l!ll*lllill!!lil!!ll!llilll!lllllt!l!llllll!lllll!!l
STEST 12 RASH 1 SHIFTED BY &6 = 100 PS = O
!!!!i!*!i!!liiii!ii!!i!!li!!!!!!!!l!!i*il*i!lll*ll!l*!l!!*ll!!lll!ll

001S6Y 1c786 SCOPE

001566 012700 000001 MOV 81,0 -LORD RO WITH 1

001572 072027 000006 ASH 86 70 :SHIFT RO BY b

001576 0137@7 177276 012140 MOV 3PS, PSW :SAVE PS

001604 122767 000000 0i2132 CMPB 80, PSuW 1S THE PS 0?

001612 00140 BEQ .44

001614 000000 HLT - THE PS IS NOT EQUAL TO O

001616 022700 000100 CNP 8100, 70 +1S THE RESULT 100”

001622 001401 BEQ .44

00.624 000CO0 HLT RO IS NOT EQUAL TO 100
i!*l*!*l!*!*!**ll!l!i!!i!!l***ii!I!!!!lil!!!*l!!lll!ll!il*l!!i!!!ill
STEST 13 ASH { SHIFTED BY 7 = 200 PS = O
l&!i!*lll!!lliiill!illil!!ill!{l!!lll!!!li!l!lll!illll!ll!l!l*!liii!

001626 010701 SCOPE

001630 012700 000001 MOV &1,%0 :LOAD RO WITH 1

001634 072027 000007 ASH 87’70 :SHIFT RO BY 7

001640 013767 177776 012076 MOV 8PS PSW :SAVE PS

00164 122767 000000 012070 CMPB  80,PLU 1S THE PS 07

001654 001401 BEQ .+

001656 000000 HLT - THE PS 15 NOT EounL 100

001660 022700 000200 CHP 200, %0 :1S THE RESULT 2

001664 001401 BF.d L+

001666 000000 R :RO IS NOT EQUAL TO 200
9*!**!!*!!*!&!!li*lllIl!l!*l*ill!!llll!ll!ll*!liil*lill!*!l!l*llllil
TEST 14 ASH 1 SHIFTED BY 10 = 400 PS = O
!li!lliii!i!!!l!!!!i!i!i{ii!i!!*iiii!!!i*illliiiiiliiliifiiliiii**l!

001670 010701 SCOPE

001672 012700 00000! MOV 81,70 -LOAD RO WITH |

001676 072027 000010 ASH 810,70 :SHIFT RO BY 10

001708 mgw 172776 012034 MOV 3PS5, PSW snwf' PS

001710 122767 000000 012026 CMPB  80,P5u :15 THE PS 07

001716 001401 BEQ .+

001720 (£00CO0 H.T :THE PS 15 NOT EQUAL TO O

001722 022700 0OO400 CHP 2400, %0 1S THE RESULT 4007

001726 001401 BEQ +4

001730 (000000 HLT ) sRO IS NOT EQUAL TO 400
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el

000001
0go0ie
000000

010701
07

002050 013767

002056

001401

000000

022700
001401
000000

MARCYL1 27(732)

0o
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& 3036900036 36 90 6 306 06 38 36 96 98 36 30 6 30 90 330 36 90 36 30 30 3030 630 90 30 6 36 00 8 3030 6 300 300 00 S HHHHHHHHHEHHHHHHHHE

;TEST 1S ASH 1 SHIFTED BY 11 =

1000

PS=0

!iil*ililll!!!lli!!iilii!!il!l!li!lill!!l*ll*l**lli!ﬁ**’*ll*!!l*l!l’

SCOPE
M 81, %0
lli ~0

auv PSW
Jéu

OIOOO,ZO
.44

;LOAD RO WITH 1
:SHIFT RO BY 11

sSAVE PS

;1S THE'PS 07

; THE_PS IS NOT EQUARL TO O
;1S THE RESULT 10007

;RO IS NOT EQUAL TO 1000

3 SR I I 00036 06 00 30 0 36 06 06 36 6 38 3698 36 3036 36 30 6 36 36 00 00 030 30 00 30 06 30 30 36 30 36 30 36 0038 36 3000 00 36 3430 30 30 30 30 30 30 0 36 36 30 2 2 3

:TEST 16 ASH

1 SHIFTED BY 12 = 2000 PS =0

i!iii!**!!*i!**!!!lli**l!l*l***ll!**i*!*ii!li*l!l!*****!***!l**l!l!!

MOV 81,70 :LOAD RO WITH 1
ASH $12.%0 SHIFT RO BY 12
MOV 3PS PS :SAVE PS
CMPB 80,PSW +1S THE PS 07
BEQ .+4
HLT - THE PS 1S NOT EQUAL TO O
ggg cagoo,zo :1S THE RESULT 20007
i J
HLT ;RO IS NOT EQUAL TO 2000

5 SESFEIEJIE 30 306 3090 3036 30 06 6 30 36 00 36 36 30 36 00 030 00 S8 3006 0 36 36 038 30 30 6 3600 36 30 3 0 30 3w S0 A 2 AR

*TEST 17 ASH 1 SHIFTED BY 13 = 4000 PS = 0
l!l!!!il!!l!!il!!!i!l*!iil*!!l*!i!li!i*l!lli!!*i&i!i!ii!iiil*l*il*!*

SCOPE

MOV 81,70 :LORD RO WITH |

ASH 813,70 :SHIFT RO BY 13

MOV 3PS, PSu :SAVE PS

ggza co PSM :1S THE PS 07

HLT :THE PS IS NOT EQUAL TO O

ggg ozgoo,zo +I1S THE RESULT 40007

HLT ) -RO 1S NOT EQUAL TO 4000
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DCKEIB. SRC

!HHiiii!!il!i!!!ﬂ»i“!l!"l!l!!l'l»H'!!!!ll!!!lll“iill"!l’!ll!“"
‘TEST 20 ASH 1 SHIFTED BY 14 = 10000 z0
!ll!l!li!!i!l!lllii!llllililll!ll!l!!l!l!“iii“"li&ﬂ““&"““l*

002100 710701 SCOPE

002102 012700 000001 MOV 81,70 sLORD RO WITH 1

002102 072027 000014 ASH 214, %0 éHIFT RO BY 14

002112 013767 177776 O0lle24 MOV 3#P5, PSK

002120 1227¢7 000000 011616 CMPEB  80,PSW 1S THE PS 0?

002153 335336 BE .+

0021 HL - THE PS IS NOT EQUAL TO O

0602132 022700 010000 CMP #10000, %0 :1S THE RESULT 100007

002136 001401 BEQ .44

002140 000000 HLT RO IS NOT EQUAL TO 10000
!!ll!lli!!!!iilll!l!ill!!liiiii!i!*iii!lililli!il!*i*{!!ii**i*i**ii!
'TEST 21  ASH 1 SHIFTED BY 15 = 20000 PS = G
i!!!!illii}!iiil!iiiiii*l!i!i*ii!§lii!i!*ililiiil*!ii*ili!l*!**l*l!i

602142 010701 SCOPE

002144 012700 000001 MOV ¢l.%0 :LOAD RO WITH 1}

002150 072027 000015 ASH 18,70 SHIFT RO BY 15

002154 013767 177776 011562 MOV 8PS, PSK :SAVE PS

002162 122767 000000 011554 CMPB mp@ mrmPsm

002170 001401 BEQ L+0

002172 000000 HLT : THE PS IS NOT EQUAL TO O

002174 022700 020000 CMP 20000, %0 *1S THE RESULT 2000G?

002200 001401 BEQ L+

002202 000000 HLT ;RO IS NOT EQUAL TO 20000
i*l*!i*l!lll!lliil!!lil!l!!!l!!lll!l!l!lill!l!iif!i*!iiiiili!*iil!**
:TEST 22  ASH 1 SHIFTED BY 16 = 40000 PS = 0
!l*lll*illiil!llll*llll!lllli!li!!lill!l!!lil!li!l!i!!lll!l!!llll!*l

002204 010701 SCOPE

002206 012700 000001 MOV 81,70 :LOAD RO WITH 1

002212 072027 000016 RSH 818 70 :SHIFT RO BY 16

002216 013767 177776 011520 MOV 3PS, PSW :SAVE PS

00222y 122767 000000 011512 CMPB  #0,PSu 1S THE PS 07

002232 001401 BEQ .+

002234 000000 HLY :THE PS 1S NOT EQUAL TO O

002236 022700 040000 CMP $40000, %0 :1S THE RESULT 40000”

002242 001401 BEQ +4

002244 000000 HLT ) RO IS NOT EQUAL TO 40000




885538

002410
002412

Bi378h

072027

MAINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

040000

177762
177776
000000

000001

040000
177763
177776
000000

000002

040000
177764
177776
000000

000004

LO1

MRCYI1 27(73e) 01-0CT-76 13:03 PAGE 12

0l
0

1456
11450

3 RN RIS R ERERR ISR RRRRF LA LS EAIRIRRERERRRS

;TEST 23 ASH 40000 SHIFTED BY 177762 = 1 PS = (0

R R R R RS R SR FERERERE
o

SCOP
nSv E £40000, %0 :LOAD RO WITH 4000C
ASH 8177762, %0 :SHIFT RO BY 177762

MOV 38PS, PS :SAVE PS
CMPB %0, PSu 1S THE'PS 07

BEQ e

HLT THE PS 1S NOT EQUAL TO O
CHP 81,70 +1S THE RESULT 1%

BEQ i

HLT RO IS NOT EQUAL TO 1

3 HIE IR IE I JIE I 000 036 0000 3 000600 0 06 06 30 3 36 06 30 3036 00 00 30 B 000 30 3636 30 J I 003 R I B RHHNRHE RN

:TEST 24  ASH Y0000 SHIFTED BY 177763 =2 PS = 0
SR HHOHEHHE HEHEH R

SCOPE
MOV #4,000, %0

-LORD RO WITH 40000
ASH 8177763, %0

:SHIFT RO BY 177763

MOV 3%PS . PSH :SAVE PS

CMPB  80,P5U :1S THE PS 07

BEQ .+

HLT - THE PS IS NOT EQUAL TO O
ggz oaqxn ‘1S THE RESULT 2°

HLT :RC IS NOT EQUAL TO 2

5 SRS J A3 00 JE 036 36 00 06 36 36 06 00 06 0036 36 90 00 636 3096 36 36 36 30 36 3 36 36 30 6 036 36 00 636 36 30 336 3690 3636 36 90 30 36 36 36 00 30 3 30 30 23 3 3

:TEST 25  ASH 40000 SHIFTED BY 177764 = 4 PS = Q0
LEEEEHEEHUH HOHEHEHEH B O R R

;LOAD RO WITH 40000
tSHIFT RO BY 177764

MOV $40000, %0
ASH 2177764, %0

MOV 3PS, PSl :SAVE PS

ggsu ogqpsu :1S THE PS 0?

HLT : THE PS IS NOT EOURL 00
CMP 84, %0 1S THE RESULT

BEQ L+4

HLT RO IS NOT EQUAL TO 4




MAINDEC-1]1-DCKBI-B ASH TEST

DCKBIB.SRC

002414
002416
002422
002426
002434
002442
00c4'M
002446
002452
002454

002456
002460
0024eM
002470

002504
002506
002510
00514
002516

002560

010701
76027
01367
652357
006086
022700

001401
000C00

010701
012700

040000
177??5
177276
000000

£30010

040000
177766
177776
000000

000020

u0040

MARCY11l 27(732)

011310
011302

MOl

01-0CT-76 13:03 PRGE 13

§ JEJE 0600 206 303036 06 30 06 638 36 30 3030 06 0 8 3630 30 30 30 8 30 36 36 36 96 30 36 3038 36 30 36 36 36 30 90 3036 36 36 30 36 30 30 30 30 30 30 30 34 30 30 30 3 3 3¢ 3¢

tTEST 26 ASH

40000 SHIFTED BY 177765 = 10 PS = 0

5 BRI T I I 0E 36 0t 6 06 0036 06 5006 6 36 30 96 6 36 9636 36 3 36 6 3690 3030 90 36 90 30 30 6 3696 3036 30 00 30 30 30 6 30 303096 030 30 30 30 3 30 2

SCOPE
MOV
ASH
MOV
cMPB
BE

HL
cMP

BEQ
HLT

40000, %0 :LORD RO WITH 40000
81777 E %0 sSHIFT RO 3Y 177765
3PS, PSH :SAVE PS
ugqpéu :1S THE PS 0?
:THE PS IS NOT EQUAL TO O
oig,zo :1S THE RESULT 107

;RO IS NOT EQUAL TO 10

S AR I3 I3 0636 33 36 6 3 36 366 36 3606 3636 96 36 36 36 30 36 36 36 36 98 36 96 36 36 36 36 36 96 36 3 36 3 38 36 38 36 36 36 3% 36 36 3 6 36 3 3¢ o 3% 3

:TEST 27 ASH

40000 SHIFTED BY 177766 = 20 PS = 0

5 0363636 36 36 36 36 36 36 36 36 36 36 36 36 36 38 36 36 36 36 36 36 36 36 36 36 36 38 36 36 38 38 38 36 36 36 36 36 36 36 3 36 36 38 36 36 30 36 36 36 36 36 90 36 06 36 30 0 6 6 0 3 3 6 %

SCOPE
MoV
RASH
MOV
CHPB
BEQ
HLT
cMP
BEQ
HLT

$40000, %0 :LOARD RO WITH 40000
2177765, %0 :SHIFT RO BY 177766
3PS, PSN :SAVE PS
ooqpsu :1S THE PS 0?
K

:THE PS IS NOT EQUAL TO O
'ES-”U 1S THE RESULT 207

;RO IS NOT EQUAL TO 20

5 SRR I3 06003630 06 636 00 0696 36 00 3036 36 3026 36 06 6 36 30 6 3606 030 36 00 36 36 30030 30 0636 90 6 36 306 36 30 36 036 0036 36 30 3 300 3 3 30 30 36 3

; TEST 30 RSH

40000 SHIFTED BY 177767 = 40 PS = 0

5 SRS 336 3 30 9E 96 36 06 96 96 9636 36 36 36 36 36 06 96 3638 3696 96 36 36 3 36 36 36 38 36 36 36 46 8 36 36 36 98 3¢ 30 3 36 36 38 36 36 36 3036 36 36 36 36 3 30 30 36 36 36 36 36 3

840000, %0 :LORD RO WITH 40000
8177767, %0 :SHIFT RO BY 177767
a#Ps, PSK :SAVE PS
cngSu ;1S THE PS 07

:THE_PS IS NOT EQUAL TO O
'23'20 :1S THE RESULT 407

;RO IS NOT EQUAL TO 4O




MRINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

002S62 010701
OnesSed 012700 040000
0uaS70 Q72027 177770
002S74 013767 177776
002602 122767 (000000
002610 0O014G1
002612 000000
002614 022700 000100
002620 (001401
J02622 000000

002624 010701

002626 012700 040000
002632 072027 177771
032636 013767 177776
002644 122767 (000000

002656 022700 000200
00cbbe 001401
002664 000000

002656 010701

002670 012700 040000
0Cee74 072027 177772
885;00 013767 177776

06
002714 (01401
002716 (000000
002720

002724 001401
002726 000000

(o] = ]
s b
P
o [
no

Prmts Punip

NO1

MRCYLl 27(732) 01-0CT-?6 13:03 PRGE 14

5 JEREI 0303636 36 36 6 96 36 36 30 JE06 36 36 9 36 36 3696 26 3638 30 36 38 36 36 96 96 9636 36 3630 3636 38 36 36 30 36 3090 36 36 36 3 30 30 36 36 36 30 36 36 36 6 3 3 3 36 36 3¢

:TEST" 31 40000 SHIFTED BY 177770 = 100 PS = O
;!li*****ii*i!*i!*i!*l*ili!i!il!!!!ii!!l!!!i!!l!illiii*!il!!li!!!l!!*

SCOPE

MOV $40000, %0 :LORD RO WITH 40000

ASH 2177770, %0 :SHIFT RO BY 177770

MOV 3%PS, PSN :SAVE PS

CMPB 80, PSW 1S THE PS 07

BEQ .+

HLT :THE PS IS NOT EQUAL TO O

ggg '130'”0 '15 THE RESULT 1007

HLT :RO IS NOT EQUAL TO 100

o S J I 36 36 3006 36 30 36 36 36 06 36 06 30 36 30 36 06 30 38 3 98 06 36 36 36 36 30 36 30 00 36 36 06 36 30 06 30 19 38 36 6 36 36 36 36 36 36 36 36 96 3 3 36 3¢ 36 3

STEST 32 40000 SHIFTED BY 177771 = 209 PS = O
;i***********i******!!**!*!*i******!*****!******!iil**!****iil******i

SCOPE

MOV $40000, %0 :LOAD RO WITH 40000

ASH 8172771 ,70 sSHIFT RO BY 177771

MOV 3PS, PSH :SAVE PS

CMPB  80,PSW 1S THE PS 07

BEQ P

HLT :THE PS IS NOT EQUAL T0 O

ggg aggo.za :1S THE RESULT 2007

HLT ) RO IS HOT EGQUARL TO 200

g

&

o S 3030309 36 3 36 3 36 36 26 36 3 36 36 3t 96 36 J6 36 3¢ 36 3 36 36 36 36 36 38 36 96 36 3 36 36 4 0630 9636 30 36 3 36 3 30 3 3 03 M HAEFREERX

:TEST 33 ASH 40000 SHIFTED BY 177772 = 400 PS = 0
;!l*ll**!!*l!*lll!*llil!ili***iil!ll!i!lili*l!l!******!**************
SCOPE
MOV $40000, %0 -LOAD RO WITH 40000
ASH $177772.0 :SHIFT RO BY 177772
MOV §8PS, PSH : SAVE PS
CMPB  #0,PSW :1S THE PS 07
BEQ .+
HLT :THE PS IS NOT EQUAL TO O
ggg uzgo,zo + IS THE RESULT 4007
HLT RO IS NOT EQUAL TO 400




BOZ

MRINDEC-11-DCkBI-B RSH TEST “CYLl &7(732) 01-0CT-7?6 13:03 PRGE 15

DoABIB. SRS
llllllil!!lllllllllil!!!!lil!!illlll!!l!ill!llllili!l!!lliillll!!!li
STEST 34 ASM 40000 SHIFTED BY 177773 = 1000 PS = 0
I!lliii!!li!!l!l!llillllli!llllllllllIlIilllllil!l!i!ilillillll!l!*l
010701 SCOPE

602732 012700 040000 MOV 840000, %0 :LORD RO WITH 40000

002736 072027 177773 ASH 8177773,%0 :SHIFT RO BY 177773

002742 013767 177776 010774 MOV aaps PSY :SAVE PS

002750 122767 010766 CNPB 0, PSK 15 THETPS 07

002756 001401 BEQ .do

002760 000000 HLT :THE PS 1S NOT EQUAL T0 O

00276 022700 001000 CHP #1000, %0 :1S THE RESULT 1000°

002766 00:401 8EQ .44

002770 000C00 HLT RO IS NOT EQUAL TO iGOO

(RREEESRRERERRRRERRERRRRERRRERRRPRREREREEREE R R RS R IR 855 EE RSN

:TEST 35 ASH Y0000 SHIFTED BY 177774 = 2000 PS = 0
D RREREEEREARRE RS O R R R

002772 010701 SCOPE

002774 012700 040000 MOV 840000, %0 :LOAD RO WITH 40000

003000 072027 177774 RSH 817777% %0 :SHIFT RO BY 177774

OC3004 013767 177776 010732 MOV 3PS, PSll :SAVE PS

003012 122767 000000 010724 cP8  80,P5u 1S THE PS O?

033020 001401 BEQ .+4

003022 (000000 HLY :THE PS IS NOT EQUAL TO O

703084 022700 002000 CHP 2000, %0 :1S THE RESULT 20007

503030 001401 BEQ e

053032 000000 HLT :RO IS NOT EQUAL TO 2000
iiléil!illl!liil!llll!!iil!llll!llllli!llllllil{{lilliliiliiliiiiiii
:TEST 36  RSH 40000 SWIFTED BY 177775 = 4000 PS = O
{!lllllii!l!l!lillIiililll&lillli!li{llllll!lilllli!iii!ilil*i!l*i!i

0O30™ 010701 SCOPE

00303 012700 040000 MOV $40000, %0 -LORD RO WITH 40000

003042 072027 177775 ASH 1177776 %0 :SHIFT RO BY 177775

003046 013767 177776 010670 MOV PS. PSY :SAVE PS

002054 122767 000000 010662 CHPB co Péu 15 THE PS 07

0C3062 00140} BEQ .44

003064 (000000 HLT :THE PS 1S NOT EQUAL TO O

003066 022700 004000 CHP 84000, %0 1S THE RESULT 40007

003072 001401 BEQ +4

003074 000000 HLT | RO IS NOT EQUAL TO 4000




MRINDEC-11-DCKBI-B ASH TEST
OCABIB.SRC

040000
072027 177776
17777%
000000

=
3

Yoo
R8RS
Said

010000

SRl

i

ASEEKFSE
;

: B

;
£

?13767 177776

SRR
E
:

MACY1l 27(732)

[en ] o]
R

coe

01-0CT-76 13:03 PRGE 1b

BEQ
HLT
cHP

BEQ
HT

;;Eg;i;;!i!lliilll!ll!!!ll!llIl!llll!!!l!il!iil!l!ilill!lill!l!illlli
’

40000 SHIFTED BY 177776 = 10000 PS =z D

;llilillllllI!l!!l!lilll!!llil!lllllIlllllllllllllllllillillll{l!itii
SCOPE
MOV 40000, %0 +LORD RO WITH 40000
ASH 817777,%0 :SHIFT RO BY 177776
MOV 8PS, PSH :SAVE PS
SE”SB cgqpéu :1s THE'PS 0?
HLT | :THE PS 1S NOT EQUAL T0 0
S’E‘E aigooo.-/.o :1S THE RESULT 100007
HLT ) R0 IS NOT EQUAL TO 10060

R lal et 2 22212 1322214322222 2302222 2222322222222 222227%2;

’
; TEST 40
g T T e T Y e T e T s TR TR YT Y

Y0000 SHIFTED BY 177777 = 20000 PS = 0

84 0 ;LOAD RO WITH 40000

8l %0 :SHIFT RO BY 177777

8PS, PSK :SAVE PS

sgqpéu :15 THE PS 0°

) -THE PS IS NOT EQUAL TO D
oa*gooo,-/.o :1S THE RESULT 20000°

;RO IS NOT EQUAL TO 20000

R i3 s dadadtisdtetlls s sl t s asassadsistlassstdaassdlasatisitisstiilses)

RSH 40000 SHIFTED BY 0 = 40000 PS = O

;ilt--tlll!llllllllll}lllli!!l!lllll!i!!ll!i!l!lllllIl!il*li!ll!ll!!l

SCOPE

MOV $40U00, %0 -LORD RO KITH 40000

RSH 80, %0 :SHIFT RO BY O

MOV asPS_PSK :SAVE PS

3:"59 ngqpéu .15 THE PS 0?

HLT ) :THE PS 1S NOT EQUAL TO O

55"3 cggom.m 1S THE RESULT 40000?

HT ) RO 1S NOT EQUAL TO 40000




o ——————— o r— i — —

MAINDEC-11-DCKBI-B ASH TEST
OCkB1B.SRC

0032494 010701

003246 012700 100000
003252 072027 17776l
00325k 013767 177776
003264 12%387 000010
003575 000000

003276 022700 1777277
003302 001401

003304 00000

003306 010701

003310 012700 177777
003314 072027 000017
003320 013767 177776
003326 122767 000011
0033 M 1401

003336

003340 022700 100000
0033%4 001401

003346 000000

0033S0 010701

00332 012700 177777
003356 072027 000020
003362 013767 177776
oy Boiagy ooow
003376 1401

0000 000000

00XM02 (22700 000000
003406 001401

003410 000002

MACY1l 27(732)

01-0CT-76 13:03 PRGE 17

o SRRSO U0 00 00 S0 0 3006 00026 0000 00 00 00 S0 0000 06 30 08 00 30 30 00 30 46 31 30 06 30 38 96 030 36 S04 S 30 38 3-8 0 06 S-S0 38 36 0030 3490 3

s TEST 42

100000 SHIFTED BY -1S. = -1 PS = 10

ilililill!lll!lll!l!ll!ll!llI!!llilllllll!lllllllllll!lll!llllill!!!

IIOOOOO 7“0

a9PS Psu
uo psu

;LOAD RO WITH 100000
:SHIFT RO BY -1S.

;SAVE PS
;1S THE PS 107

; THE PS 1S NOT EOURL T0 10
;1S THE RESWLT -17

;RO IS NOT EQUAL TO -1

JRRERRERRERRERREEREREFEREEREEREES B2 I I 003300 30 0 30 30 0 00 30 20 363 0 4 38

TEST 43 -1 SHIFTED BY 15. = 100000 PS = 1l
lilliliil*ililillillillillili*liil!!ll!lll!liiiil!!*!l!iliiliﬂ!l**!l

SCOPE

MOV s-1,%0 :LOAD RO WITH -1

ASH 815,70 :SHIFT RO BY 15

MOV 38PS | PSU :SAVE PS

Ecgga 'i.i"s“ :1s THEPS 11?

HLT : repsxsnorsoua. T0 11

gEn; sigoooo,-/n 1S THE RESULT I

HLT ] RO IS NOT EQUAL TO 100000

llIlllllililili!liiii!li!lll{llllill!lill!ll!iliililil!lllllliilll!{

:TEST 44  ASH -1 SHIFTED BY 16.
i&iliiliilliili{!liiliilll*iilil&lll{i!{ii{iiiii&ll!ii{ilii*l}i{i{&l

8-1,%0 ;LOAD RO WITH -1
816.,%0 SHIFTpgﬂ 8Y 16.

:5Q
87,P5u 1S THE PS 7?

SCOPE

MOV

ASH

MOV 3PS’ PSW

CHPB

.

CHP #0, %0 :1S THE RESULT 07
BEQ .+

HLT ;RO IS NOT EQUAL TO O

; THE PS IS NOT EQUAL TO ?




MAINDEC-11-DCKBI-B ARSH TEST
DCKBIB.SRC

00354 372027 177777
003520 013767 177776

Q0% (2700 152526

¢

MACYLl 27(732)

s TEST 4§

s TEST 4

852524, %0
L4

s TEST 47

8125252,

a.és’?su

IlSES?S.ZO
.44

EO2

01-0CT-76 13:03 PRGE 18

$ IR I U000 0000 4 0000 30 0 00 00 00 40 0 00 0000 30 36 00 40 00 08 48 36 20 00 46 38 90 06 00 3 36 00 30 30 08 38 6 06 30 36 8 36 30 08 36 36 00 38 36 36 % 3 3 3 %

137777 SHIFTED BY 1S5. = 100000 PS = 13
e T e N N T L L

8137777,70 ;LORD RO WITH 137777

.35 pﬂu

OiEOOOD,ZO :1S THE RESULT 1000007

gHIFT RO BY 1S.

RVE PS

;1S THE PS 13

; THE PS IS NOT EQUAL TO 13

;RO IS NOT EQUAL TO 100000

oSSR SIS SIS 30 0 30 38 06 36 36 3 36 38 3 3 3 38 S8 3090 36 30 36 08 30 90 306 3 00 38 38 36 3F 3030 3638 3 06 3898 3 3 36 3 98 38 36 S48 36 3 36 3 3 46 3

125252 SHIFTED BY | = 52524 PS = 3
e e e T

$125252, %0 :LOAD RO WITH 125252
asés PSW

sSHIFT RO BY 1
;SAVE PS
:1S THE PS 37

; THE PS IS NOT EQUAL TO 3
;1S THE RESULT 525247

;RO IS NOT EQUAL TO S2Sa4

o SRR R I 33 0 340 000 30 3030 36 00 30 00 30 38 30 S JHU 30 90 06 3 4 0 3 90 00 30 303038 20 90 30 01 30 3 3 3 38 3

125252 SHIFTED BY -1 = 1525¢S PS = 10
L RE

LORO RO WITH 126252
IFTPSO BY -1

;IS THE PS 107
; THE EE 58 NOT EQUAL TO 10
;IS T SULT 1525257

;RO IS NOT EQUAL TO 152525




—— e

MRINDEC-11-DCKBI-B nRSH TEST

OCKBIB.SRC

i

010701
012700
972027
013767
122767

001401
000C00

= naqee
e

22
=
:

%

o
ik

§§

125252
177776
177776
000011

165252

040000
177762
177776

:

MACY1l 27(732)

010144
010136

010102
010074

010040
010032

FO2

01-0CT-76 13:03 PRGE IS

o SEIER TR SRR 0P 48 T 00 0 30 00 00 3 36 38 90 36 30 00 00 00 30 6 90 30 3000 48 00 38 30 06 0 30 48 36 38 3 90 38 06 30 30 00 96 36 98 96 38 36 38 3 96 3% 3 36 3 36 3 3 3% 33 %

; TEST SO  ASH

125252 SHIFTED BY -2 = 165252 PS = 11

5 SIS 03 0 06 30 330 330 36 00 30 36 30 30 30 B30 36 90 40 00 0 0 36 36 30 36 S 08 30 30 48 36 98 36 06 36 30 36 38 38 36 36 30 30 3 3 30 38 36 36 36 36 0 3 6 3 3 34 3¢

8125252, %0 ELOQD RO WITH éESESE

$-2.%0 :SHIFT RO BY
3PS PSu :SAVE PS
oﬁ,ﬁsu 215 THE PS 11°

;THE PS IS NOT EQUAL T0 11
li&SESE.ZO ; IS THE RESULT 1652527

;RO IS NOT EQUAL TO 1652%2

5 AR ERR I  0 5 36 363638 56 JE 30 0 30 30 96 36 36 3036 96 3 36 30 06 3636 36 36 36 36 36 0 30 3 36 96 36 36 36 36 36 38 6 3 3 36 3¢ 3¢ 3¢ ¢ %

IYEST 61  RSH

40000 SHIFTED BY 177762 =1 PS =0

¢ THIRER IR I 33 3 333 3 30 30 1 30 36 34 030 38 9 36 36 36 36 36 36 360 30 30 36 38 30 06 38 36 30 0 36 30 30 30 36 06 30 30 36 30 6 36 34 36 38 3 3 36 3% 8

40000, %1 ;LORD _R1 WITH 40000

8177762, %1 ‘SHIFT R1 BY 177762

S8PS, PSU :SAVE PS

ngPSu :1S THE PS 0?

) <THE PS IS NOT EQUAL TO O
'iQZI 1S THE RESULT 1?

;R1 IS NOT EQUAL T2 1

5 SEARIE 30 303030 U0 2000 30 36 36 S0 36 38 36 36 30 36 3¢ 38 3036 36 38 38 96 6 38 36 36 38 36 36 38 36 38 0 96 30 36 36 36 36 3038 38 36 36 0 96 36 36 36 38 36 36 38 38 3 38 3 3 3

:TEST 52 ASH

40000 SHIFTED BY 177763 =2 PS =0

o SRS JE00 0030303636 36 6 36 36 30 96 36 36 36 36 6 36 36 36 3F 36 36 36 36 36 30 96 36 08 30 36 3t2' 3036 36 36 96 6 36 30 36 36 38 36 36 38 336 6 96 96 36 3 3t 36 36 36 3¢ 6 %

SCOPE

ROPeA AL SATET Ry 177763
SAVE PS

3#Ps, PSl :

cgqps‘u :1S THE PS 0?

) +THE PS IS NOT EQUAL TO O
82,41 :1S THE RESULT 2?

.+4
;R1 IS NOT EQUAL TO @2




MRINDEC-1
BIB.

— ———— - —— - ——

-DCKBI-B ASH TEST

003726

322
N o= e

040000
i??? Y4

000000

040000
177765

000010

MACY1l 27(732)

;TEST 55

GO2

01-0CT-76 13:03 PAGE 20

: TEST 53

: TEST 54

MOV

ASH
MOV
cMPB

BEQ
HLT
cMP
BEQ
HLT

RSH

:nggoézfl HIFT R1 BY x 64
7B 130l T 8

840000, %1
nl???&é %1 :SHIFT Rl BY 177765
:SAVE PS

$40000, %1
umss %1 ;SHIFT R1 BY 177766

5 SIEIEIE S0 00090 3 00 06 36 38 40 06 00 30 38 00 30 36 30 38 36 9096 90 30 38 98 96 36 98 38 36 96 96 36 38 98 36 06 36 38 36 30 3696 36 38 36 30 36 36 36 96 36 38 36 6 3 36 38 34 3% 96 ot

Y0000 SHIFTED BY 177764 = 4 P§ = 0
e T T O L S S L L L L LA T e e e

SCOPE
MoV
Rgﬂ
MOV
cMPB
BEQ
HLY

cMP
BEQ
HLT

;LOAD Rl WITH Y4

115 THE PS 07

rmpsmnmewmronsf
'1S THE RESULT 4

;R1 IS NOT EQUAL TO 4

$ SIS 03 ST 00 3036 36 D03 36 36 9 36 36 38 36 06 30 36 38 38 38 36 30 36 38 0 06 36 36 3 0 3 36 38 38 06 36 36 3¢ 96 3 36 38 38 36 96 36 36 38 2 36 3 38 36 3 3 36 3¢ 3% 3

40000 SHIFTED BY 177765 = 10 PS = 0
ilii!!!i*!!*i**i********!!il*t***i*!*!**!***l**l**i!***!**ii!**!***i

SCOPE

;L0AD _R1 WITH 40000

;1S THE PS 07

; THE PS IS NOT EQUAL TO O
;1S THE RESULT 107

;R1 IS NOT EQUAL TO 10

o SR A I3 200 3 30 36 00 36 30 0 SR 3030 S0 00 36 00 30 06 O 30 30 00 06 06 30 36 36 00 36 36 36 3 00 36 3F 36 38 36 00 36 30 36 98 3 O 30 38 % 3 3

40000 SHIFTED BY 177766 = 20 PS = 0
SR HEHEHEHEHEH HEHE O R

LOﬂD Rl WITH 40000

iSAVE PS

;1S THE PS 07

; THE PS IS NOT EQUAL T0 O
;1S THE RESULT 20°

;R1 IS NOT EGUARL TO 20




HO2

MRINDEC-11-DCKBI-B RSH TEST MRCY1l 27(732) 01-0CT-76 13:03 PAGE 21

DCKBIB. SRC

l!lli&‘lil!'li*ll*iiill!!ilil!lil!!ll!il!li*ll!ll!ll!li!li!!i!li!li!
‘TEST S&  HWSH 40000 SHIFTED BY 177767 = 40 PS = 0
tfi!ii*!ii!*ii!!i*!i!!i*!i!*iiil*!iiiiiliili*ii*lii!!*i*!****lll**!i

0ONC?7Y 010701 SCOPE

004076 012701 040000 MOV $40000, %1 :LORD R! WITH 40000

004102 9072127 177767 ASH 8177767, %1 :SHIFT R1 BY 177767

004106 013767 177776 007630 MOV 38PS . PSH :CAVE PS

004114 122767 000000 007622 CMPB 80, P5u 1S THE PS 07

004122 001401 BEQ L+

004124 000000 HLT s THE PS IS NOT EQUAL TO O

004Ice 022701 000040 CMP 40, %1 1S THE RESULT 407

004132 001401 BEQ Py

004134 000C00 HLT :R1 IS NOT EQUAL TO 40
i!iiiiil!!i!il!!i*!ii!i*!!!!i*!{l!{l!*illi!ll!!!!l!!!i!!!!f!!!l!!{!l
:TEST 57 RSH 40000 SHIFTED BY 177770 = 100 PS = O
lillllill{l!lil!!ll!!!ill!ii!illl!lllii!!!lll!ii!l!i!!iiiiillliliiil

OOM136 010701 SCOPE

004140 012701 040000 MOV £40000, %1 -LORD R1 WITH 40000

004iW 072127 177770 ASH 8177770, %1 :SHIFT R1 BY 177770

004150 013767 177776 007566 MOV S¥PS, PSW :SAVE PS

004156 122767 000000 007560 CMPB  80,PSW 1S THE PS 07

004164 001401 BEQ L+

004166 000000 HLT -THE PS IS NOT EQUAL TO O

004170 022701 000100 CMP £100, %1 1S THE RESULT 1007

004174 001401 BEQ ,+4

00+1/76 000000 HLT :R1 IS NOT EQUAL TO 100
ii!il!i!ll!ii!!i*!!l****l**i*!!i!!!f!!i*i*!*l**ii!!ii!!li!!*i**il**l
TEST 60 ASH 40000 SHIFTED BY 177771 = 200 PS = O
!!!i!lili!l!i!li!i!!l!!!ll&illl!ii!l!!!!i!!!l!!!!!lili!illii!ii!!ili

004200 010701 SCOPE

oo4202 012701 040000 MOV $40000, %1 sLORD R1 WITH 40000

004206 072127 177771 ASH 8177771 %1 :SHIFT R1 BY 177771

oo4212 013767 177776 007524 MOV J8PS, PSH : SAVE PS

220 122767 000000 007516 cHP8 80, PSK 1S THE PS 07
00M226 001401 BEQ .+
230 000000 HLT :THE PS 1S NOT EQUAL TO O

004232 022701 000200 CHP 8200, %1 + 1S THE RESULT 2007

004236 001401 BEQ .44

004240 000000 HCT :R1 IS NOT EQUAL TO 200




MRINDEC-11-DCKBI-B RSH TEST

DCk818.SRC

040000
1772772
177776

000000

000400

177773
177776

001000

?
<
8

i3

002000

102

MRCY1l 27(732) 01-0CT-76 13:03 PAGE 22

s BRI IS 3 IS 30T S B 0000 3T 0003030 3036 000030 2006 6 003 3 4 0
:TEST 61  ASH Y0000 SHIFTED BY 177772 = 400 PS = 0
SRR HHHEOHE S

SCOPE

MOV 840000, %1 :LORD Rl WITH 40000

ASH 0177772 %1 :SHIFT R1 BY 177772

MOV PSH :SAVE PS

gEnPa cg Péu : 1S THE PS 07

HL :THE PS 1S NOT EQUAL TO O
SEE '29,0 %1 ;1S THE RESULT 4007

HLT :R1 IS NOT EQUAL TO 400

l!l!iit!!!!!**!!i!!!*!*!ll*liili!il**ll*iil!*l!li*li*li****ii*i*!**l

:TEST 62  RSH 40000 SHIFTED BY 177773 = 1000 PS =
i!iili*li!!!il**!i!i*iii!!!!l*i!il*!!iliiiii!iii!ll*!i!i*i!il**!****

SCOPE

MOV #40000, %1 :LOAD Rl WITH 40000

ASH 8177773, %1 :SHIFT RL BY 177773

MOV a8PS, PSH {SAVE PS

CMPB 80, P8u 1S THE PS 07

BEQ L+

HLT :THE PS IS NOT EQUAL TO O
SEZ sigoo,m 1S THE RESULT 10007

HLT :R1 IS NOT EQUAL TO 1000

5SRO0 B3 0T 00 00 00 06 66 6 38 36 36 38 08 30 36 06 JH06 30 30 30 36 06 6 6 36 36 38 30 90 36 3036 38 36 36 30 306 36 38 36 36 36 30 6 36 36 36 36 36 30 36 3036 3¢ 36 3¢

;TEST 63 ASH “0000 SHIFTED BY 177774 = 2000 PS = 0
S HIHEHHHHEHEHOHHHHEH HEHEHE HEHHHEHEHHBHE I HHHHEHOHEHHE O

SCOPE

MOV $40000, %1 :LORD Rl WITH 40000

ASH 81777798, %1 :SHIFT R1 BY 177774

MOV 3¥PS, PSl :SAVE PS

ggnza cgqpéu :1S THE PS 0?

HLT s THE PS IS NOT EQUAL TO O
gsns nggoo,m 1S THE RESULT 20007

HLT ;R1 IS NOT EQUAL TO 2000




MRAINDEC-11-DCKBI-B ASH TEST
DCKBIB. SRC

O044le 012701 040000
004416 Q72127 177775
004422 013767 177776
004430 122767 000000

OO44M2 022701 004000

MRCYLL1 27(732)

007314
007306

007252
007244

007210
007202

JOe2

01-0CT-76 13:03 PAGE 23

§ IR 30030 3000000 30306 00 30 00 30 08 00 006 36 36 38 6 36 30 30 38 8 36 36 38 36 90 9 06 38 36 30 30 08 36 3 0 06 08 38 S8 08 305 36 00 3000 230 3 3

;TEST 64  ASH

40000 SHIFTED BY 177775 = 4000 PS =0

!!!lii**l**!!l**ll*!liill*!*l**!i*llll*!*!!!liiil**!!**l!*llll**ll**

40000, %1 :LORD R1 WITH 40000
8177778 %1 sSHIFT R1 BY 177775
J¥PS, PSH :SAVE PS
cgqpéu :1S THE PS 07

: THE PS 1S NOT EQUAL TO O
oggoo,zx : 1S THE RESULT 40007

;R1 IS NOT EQUAL TO 4000

o JIIEIE 03300090 336 0 36 36 36 36 3 36 3638 90 36 36 38 36 36 30 3638 36 0 90 96 36 390 30 3 36 36 90 30 36 30 36 0 90 96 36 38 36 9 30 36 36 36 9 3 36 36 3 3 3 3¢ 3¢ %

:TEST 65 ASH

40000 SHIFTED BY 177776 = 10000 PS = 0

i!ii!ll!l!!!l!l!l!i!iilli!i!ill!ll!il!i!!il!il!!i!!ll!l*!!!l!!llill!

.
.

$40000, %1 :LOAD Rl WITH 40000
ol????é %1 :SHIFT Rtsav 177776
PS, PSW :SAVE PS
agﬁpsu 15 THE PS n’
-THE PS IS5 NOT EQUAL T0 O
sigooo,zx =15 THE RESULT I1000G?

;R1 IS NOT EQUAL TO 10000

**‘lli*i**li*il**lllliil!*****ll!i*!l***i!!*i*l!*i*l*****!!*********

sTEST 66  ASH

40000 SHIFTED BY 177777 = 20000 PS = 0

!li*!iiii*i!li*ll!**iil*ll*ii!iiiil!*i!ll*iiiiii*ii**i****i!*!*i!**i

$40000, %1 :LOARD R1 WITH 40000
'1777§§g’1 gulrr Rl BY 177777
cgqpéu :1S THE PS 0?

) :THE PS IS NOT EQUAL TO O
oegooo,zl :1S THE RESULT 20000°

;R1 IS NOT EQUAL TO 20000

.v.




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

gg:ggg

10701
018781
372127
013767
122767
001401
000000

022701
001401
00C000

177777
000017

000011

100000

K02
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007146
007140

007104
007076

007042
007034

o SR 00 2363363636 30 95 96 00 3008 330 0 330 30 0 36 00 06 30 30 06 30 90 00 30 00 38 36 38 90 30 30 96 06 30 30 30 36 30 98 3030 30 30 00 30 30 26 30 30 30 30 36 30 0 06 36 3 3

;TEST 67  ASH 40000 SHIFTED BY 0 = 40000 PS = 0
DR R

SCOPE

MOV $40000, %1 «LOAD R WITH 40000

ASH 80 %! :SHIFT R1 BY O

MOV aobs PSW :SAVE PS

CMPB 0, PSu :1S THE PS 07

BEQ .+4

T :THE PS IS NOT EQUAL TO O
géo s:gooc.z; :1S THE RESULT 40000°

HT :R1 IS NOT EQUAL TO 40000

(ERRAREERERRRERERRNRRSRRERR R PR R R RT3 035 3330 T 330 30 0 3 30 36 330 3 0 00 0

:TEST 70 ASH 100000 SHIFTED BY -1S. = -1 PS = 10
SRR R R R RN R R R RS

SCOPE

MOV 100000, %1 :LOAD Rl WITH 100000

ASH s-15. .7} sum Rl BY -1S.

MOV 3sPS Psi s SAVE PS

ggza 310 PS + 1S THE PS 107

HLT ; THE_PE 1S 40T EQUAL TO 10
CMP s-1,%1 :1S TWz RESULT -1?

BEQ 44

HLT :R1 IS NOT EQUAL TO -1

¢ O30 S22 33000 3006 06 4 108 30 36 30 36 3 0 06 36 30 36 00 30 30 30 6 0 38 36 30 90 006 8 38 36 30 36 30 30 30 00 36 30 30 36 30 30 30 30 6 30 36 31 06 3 30 3 0

;TEST 71 ASH -1 SHIFTED BY 15. = 100000 PS = 11
DEEREREHEHE O R E R R

SCOPE
MOV 8-1,%1 LOAD R1 WITH -1

ASH 815, %1 :SHIFT R1 BY 16.

MOV 34PS PSW :SAVE PS

gﬁn;a m Psu 1S THE PS 11?7

HLT sTHE PS IS NOT EQUAL TO 1l

CHP nigoooo,zx :1S THE RESULT 100000?
HLT ] -R1 IS NOT EQUAL TO 100000
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DCKBIB. SRC

B33t itIe ittt et setiisdliiadli it tietatlstssssssssatssolitlss]s

‘TEST 72  RSH -1 SHIFTED BY 16. = 0 PS =7

ii!**i!i!iil!li!*i!*!iiiiil*iil!!l!*i*ili!*iiiiliiiiifiii*i**ii!i*i*
? 1 SCOPE

833752 81?78 177777 MOV $-1,%1 sLORD R1 WITH -1

004732 072127 000020 ASH 816, ,%1 :SHIFT Rl BY 16.

004736 013?b 177776 007000 MOV J4PS . PSW *SAVE PS

004744 122767 000007 006772 CMP8  #7,PSW 1S THE PS 77

8gq7§a "6 86 BE L+

Y284 0 HL : THE PS IS NOT EQUAL TO 7

004756 022701 000000 CMP 80,71 + 1S THE RESULT 07

004762 001401 BEQ e

004764 000000 HLT :R1 IS NOT EQUAL TO O

sRERRRRRNFEFEERRREXXXFRERERRRRERBRREREFRREREREEE R REREEEERFHEEEER

:TEST 73 ASH 137777 SHIFTED BY 15, = 100000 PS = 13
SRR R HEHOHEHEHEHEHEHHHEH R

004766 010701 SCOPE

004770 0i27C1 137777 MOV #137777,%1 ;LORD Rl WITH 137777
0o4774 072127 000017 ASH $15.,7%1 sSHIFT R1 BY 1S.

00S000 013767 177776 006736 MOV J#PS, PSW :SAVE PS

00S006 122767 000013 006730 CMPB Il3 ASil ;1S THE PS 137

00S0i4 001401 BEQ

005016 000000 HLT ; THE_PS IS NOT EQUAL TO 13
00S020 022701 100000 CHP #100000, %1 ;1S THE RESULT 1000007
00S024 001401 BEQ .44

005026 000000 HLT ;R1 IS NOT EQUAL TO 100000

§ S0 JE0E 006 3300 30 36 00 30 36 06 06 6 38 36 38 36 36 36 36 06 3636 36 36 36 36 30 6 3638 38 36 38 36 30 30 0038 36 30 36 30 0 36 36 36 3 36 30 00 00 0 36 30 30 30 30 36 0 38 2 30 3

:TEST 74  ASH 125252 SHIFTED BY 1 = 52524 PS = 3
DU EHHHEH O OO OO

005030 010701 SCOPE
005032 012701 125252 MOV a1asasa %1 :LOAD R1 WITH 125252
00503% 721 oggggg ASH :SHIFT R1 BY 1
008042 013767 | 006674 MOV aoPs PSW :SAVE PS

122767 000003 006666 CMPB  83,P5M :1S THE PS 37
00S0S6 001401 BEG .+
005060 000000 HLT sTHE PS IS NOT EQUAL TO 3
005062 022701 062524 CNP 852524, %1 1S THE RESULT S25247
00S066 001401 BEQ e

005070 (000000 HLT ) :R1 IS NOT EQUAL TO 52524
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DCKBIB.SRC

*!****!*l*!i**!**!l*******l*l*!i**i*lil**l**!!li*i!i!l!l!*!!l!*llll!
:TEST 75  ASH 125252 SHIFTED BY -1 = 152525 PS = 10
*i!ii**!l*!***i*iii**i*l*!****!*ii*!!!*i*i!i***liii!*******!***l****

00S072 010701 SCOPE

005074 012701 125252 MOV 8125252 %1 :LOAD n1 WITH 125252

005100 072127 1727777 ASH su:rr 1 BY -1

00S10N 013767 177776 006632 MOV a.ps PSH AVE P

00Sil2 122767 000010 006624 CMPB uxo PSi IS THE PS 10?

005120 0OI401 BEQ

005122 000000 HLT :THE_PS IS NOT EQUAL TO 10

005124 022701 152525 CMP $152525, %1 :1S THE RESULT 1526257

005130 001401 BEQ .44

005132 000000 HLT :R1 1S NOT EQUAL TO 152525

3 FI I3 36 3036 36 36 36 36 036 36 96 3 96 36 36 36 36 36 36 36 36 36 36 36 38 36 36 36 36 36 36 38 36 38 36 38 36 36 36 36 38 36 36 36 36 36 36 36 36 36 3 36 3496 3490 3¢ 3 3

:TEST 76 RSH 125252 SHIFTED BY -2 = 165252 PS = 11
PREREHEHHHHHOHH I HHOHEHEH B

DOSI3M 010701 SCOPE
005136 012701 125252 MOV #125252, %1 :LOAD R1 WITH 125252
005142 072127 177776 ASH 8-2, 71 :SHIFT R1 BY -2

005146 013767 177776 006570 MOV 28P5. PSW :SAVE PS

005154 122767 000011 006562 CMPB  #11,PSi 1S THE PS 117

005162 (001401 BEQ L+

005164 000000 HLT :THE_PS IS NOT EQUAL TO 11
005166 022701 165252 CMP $165252, %1 1S THE RESULT 1652527
005172 00401 BEQ .44

005174 000000 HLT :R1 IS NOT EQUAL TO 165252

*l******ii*!******!i**l*!****!l********l*****!§§*§li******li!****i**

:TEST 77 ASH 40000 SHIFTED BY 177762 =1 7S =
!l!i!!ili!li!!!lli!!i!iil!i!ii*i!iiil*!*ii!i!iif!i*l*******!*i*!****

005176 010701 SCOPE
005200 012702 040000 MOV 40000, %2 :LOAD R2 WITH 40000
005204 072227 177762 ASH 8177762, %2 *SHIFT Ra BY 177762
005210 013767 177776 006526 MOV 8PS, PSW SAVE P

005216 122767 000000 006520 CMPB  #0,PSW .18 THE PS 07

00S224 051401 BEQ .+4

005226 (00000 HLT ; THE PS IS NOT EQUAL TO O
005230 022702 000001 CHP 81,72 1S THE RESULT 17

005234 00140l BEQ .44

005236 000000 HLT ;R2 IS NOT EQUAL TO 1




OCKBIB.SRC

00S240
005242

005272
005276
005300

005376
005402
0aS404

010701
012702
9ve227
013767
122767
001401
000000
022702
001401
000C00

010701
012702

010701
012702
072227
013767
122767
001401
000000
022702

091401
000000

MRINDEC-11-DCKBI-B RSH TEST

040000
177763
177776
000000

000002

040000
177764
177776
000000

000004

040000
177765
177776
000000

000010

MACY1l 27(732)

006464
006456

006uee
0044

006360
006352

NO2
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3 RS0 3 000600 D JE 36 3 36 34 3036 06 38 3 W98 36 36 96 36 06 38 36 30 36 38 30 36 96 6 30 96 962, 3638 38 36 96 3 96 96 34 36 38 38 36 0 30 36 S-S0 9038 36 36 3 36 94 30 36 3¢

TEST 100 ASH

42000 SHIFTED BY 177763 =2 PS =0

s FRIIII R I3 23T T3 I3 30 000 3 36 3 369036 30 36 36 36 36 3638 0 36 36 38 330 36 36 30 3% 36 36 36 36 3630 90 36 38 30 0 96 36 30 38 36 3¢ 38 30 36 3 3¢ 3%

SCOFE
MoV
ASH
MOV
CMPB
BEQ
HLT
cMP

BEG
HLT

$40000, %2 :LOAD R2 WITH 40000
8177763, %2 :SHIFT R2 BY 177763
3PS, PSH :SAVE PS
ngqpéu 1S THE PS 07

: THE PS IS NOT EQUAL T0 O
unga + IS THE RESULT 27

;R2 IS NOT EQUAL TO 2

$ SRR TR0 003006 3 06 36 36 96 36 6 36 36 3 30 6 36 96 36 9 36 36 36 36 36 30 36 96 36 36 36 3 36 06 36 96 36 36 36 36 36 36 6 36 36 3 96 36 3 36 36 2 36 9 3 3 36 3 3 3

:TEST 101 ASH

40000 SHIFTED BY 177764 =4 PS =0

3 S0 303630 36 36 3630 3 36 36 36 36 36 36 36 36 3 36 36 38 36 3t 36 36 36 38 36 36 36 36 6 36 36 38 36 36 36 36 36 36 3 36 36 38 36 6 36 36 36 36 3 36 36 36 3¢ 38 36 36 36 36 6 3 36 3¢ 3¢ 3

HLT

$40000, %2 :LOAD R2 WITH 40000
8177764, %2 sSHIFT R2 BY 177764
J%PS, PSH :SAVE PS
sgqpéu 1S THE PS 07

-THE ©S IS NOT EQUAL T0 O
'ﬁq"'e :1S THE RESULT 47

;R2 IS NOT EGUAL TO 4

§ S 3333000 3 3036 300 06 036 36 3 38 36 3 3 36 36 38 36 3t 306 3636 36 06 36 96 36 0 96 06 36 36 300 36 36 36 36 0 30 36 36 36 3 30 06 36 36 36 30 36 36 36 36 3 36 36 30 3t 38

:TEST 102  ASH

40000 SHIFTED BY 177765 = 10 PS =D

o I3 00 0630 3636 36 36 36 36 6 36 36 36 36 36 36 36 36 6 38 36 3 3636 36 36 36 36 96 6 0 3 36 3 36 36 36 36 36 36 96 36 3 36 3¢ 36 36 36 36 36 38 38 38 06 96 36 36 36 36 36 36 36 36 3

SCOPE
MOV

#40000, %2 :LOAD R2 WITH 40000
8177765, %2 sSHIFT R2 BY 177765
a8PS, PSK tEAVE PS
IQQPQH ;1S THE PS 07

;THE PS IS NOT EQUAL TO O
oig,za 'IS THE RESULT 107

;R2 IS NOT EQUAL TO 10
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DCxBIB.SRC

(ERRERRRNRRA SRR RN R AR RN AE RN R RN ER SRR SRR AR R RN RRREERE RN RE

;JEST 103 ASH 40000 SHIFTED BY 177766 = 20 PS =0
I I T I R Y TR S I T e M T R e R T e e R R e e i T R A L

010701 SCOPE

00S410 012702 040000 MOV 840000, %2 L. ORD Rz WITH 40000

0054 14 g?aaaz 177766 ASH 8177768, %2 :SHIFT R2 BY 177766

poSH20 013767 177776 006316 MOV S4PS, PSW :SAVE PS

DOSY26 122767 000000 006310 cMP8  0,PSN :15 THE PS 0?

0054 001401 BEQ 44

005436 0GO000 R :THE PS 1S NOT EQUAL T0 O

00Ew40 022702 000H20 CHP 820, %2 1S THE RESULT 207

00Sw44  OC.401 SEQ e

OL344b 000003 HLT :R2 15 NOT EQUAL TO 20
;i!!!llill&ll!iii!ll*il!!Ilii"llliiiiil!liiiliil!ii!iiill!iil!lill!l
:TEST 104 RSH 40000 SHIFTED BY 177767 = 40 PS = 0
;ilillilii!ll!lll!!!llilll!&i!Il!lllllilllllIiliiillillllﬁi!lllllllll

00SYS0 010701 SCOPE )

00S4S2 012702 040000 MOV 840000, 4 :1.ORD R2 WITH 40000

00E456 (72227 177767 ASH 8177767, %2 (SHIFT R2 BY 177787

00S4be 013767 177776 DD62SH MOV 38PS . PSU :SAVE PS

DOS470 122767 000007 0063496 CHPB  80,P%M 15 THE PS 0?

00S476 00140} BEQ .+

005500 HLT :THE PS IS NOT EQUAL TO 0

Q05502 022702 000340 CHP 840, %2 :1S THE RESULT 407

005506 001401 BEQ +4

005510 000000 HCT :R2 IS NOT EQUAL TO 40
;{l!&!l*!ll!!l&li!illlll!ilillil!l!il!!!illliiillillllll!l&l*!!l&*i*i
:TEST 10S RSH 40000 SHIFTED BY 177770 = 100 PS = O
;lllil*!lill!l!!&ililllil!i&!!lllli!!iiii!!!!l*ii!lillliiii!!ii!*ii*i

005512 010701 SCOPE

0S4 G12702 080000 MOV 840000, 72 -LORD R2 KITH 40000

0S50 070227 177770 RSH 8177770, %2 :SHIFT R2 BY 177770

60S5ed 013767 177776 006212 MOV 3PS, PSU :SAVE PS

005532 122767 00CO0C 006204 cMP8 0, PSu :1S THE PS 07

DOSSH0 001401 BEQ .+

00SS42 000000 HLT THE PS IS NOT EQUAL TO O

005544 022702 000100 CHP 8100, %2 ‘1S THE RESULT Iu0?

005550 D0I40f BEQ .44

00SS5e 000000 HLT ;R2 1S NOT EQUAL TO 100




———— e —

“AINDEC-11-DCKBI-B RSH TEST

DCkBIB.SRC

0CSbiu

1k

: B

:

040000
177771
177776
000000

040000
177772
177776

;.
:

00!

CO3
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(ERRNRERRERE PR R RE RN R AR AR R R R ERR R RN R RRERERERE RN R RRRRRREE R

:TEST 106  RSH

40000 SHIFTED BY 177771 = 200 PS = 0

JREEERE RN R RN R R R R RN RN RN R AR AR AR AR R E R RN AR RRRRR AR RN RE

4 % :LORD R2 WITH 473000
8177771, %2 :SHIFT R2 BY 177771
38PS, PSU :SAVE PS
cgqpéu 15 THE PS 07

:THE PS IS NOT EQUAL TO O
o.;ego,-/e 1S THE RESULT 200°

;R2 IS NOT EQUAL TO 200

HARRSSY LonRERERARERERRRERRERERFEEEEEERERES HHEEEEEEEEEEEEEEEEEEEEEER

:TEST 107  ASH

40000 SHIFTED BY 177772 = 400 PS = 0

3 SRR I I S SIS S0 O 00 O 0 00 0 00 00 S 00 0 0 0 0 30 300 00 30 0 30 SH OISO S 00 30 00 S

SCOPE

$40000, %2 :LORD R2 WITH 40000
8177778, %2 :SHIFT R2 BY 177772
a3PS, PSU :SAVE PS
w’apéu 1S THE PS 0?

<THE PS 1S5 NOT EQUAL TO O
c«:go.ve 1S THE RESULT 4007

;R2 IS NOT EQUAL TO 400

s REAEEEEREREREREEEEREREREREEEEREE (REFRRRER AR EERRRERRREERRERHEREEEE

;TEST 110 ASH

40000 SHIFTEF 8Y 177773 = 1000 PS = 0

o R R S R R R R R RS RE R REREREERER

SCOPE

840000, %22 :LORD R2 WITH 40000
mms,z? :SHIFT R2 BY 177773
asPs, pel: :SAVE PS

Pl :1S THE PS 0?

; THE PS IS NOT EQUAL TO O
IiEOO,ZE ; 1S THE RESULT 10007

;R2 IS NOT EGUAL TO 1000




e

00i401
000000

00S764

doa

bRk

0060SH

Feen

MAINDEC-11-DCKBI-B ASH TEST
DCKBIB. SRC

i BB

§ BB

:

177776
177776
000000

010000

MACYll 27(732)

006002
005774

00S740
00s73¢2

00S676
00S670

DO3
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R a3 I et 2Tt el el ittt ltliossdidlleletsssdlisdslsssstsssd)

:TEST 111  ASH

Y0000 SHIFTED BY 177774 = 2000

PS =0

!lllili§llll!Illl!liillll!lilllilI!llllQilllllllllill!llllllllil!lil

s40000, 42
8177774, %2
3PS, PSU

.+QP§“

82000, #2
.44

;LORD R2 WITH 4000C
SHIFT BY 177774
;SRVE PS

;1S THE PS 07

; THE PS 1S NOT EQUAL TO G
;1S THE RESULT 2000°

;R2 IS NOT EQUAL TO 2000

(EREREERRERRRERREREREFERRERRRERRIRARRRRR AR RERARRERERRERRARERE LR

40000 SHIFTED BY 177775 = 4000 PS = 0
R T T e A T et e et R A T IR R R AT Y

s TEST 112 ASH

:?9"79%’“32
so Péupsa
.4

84000, %2
.44

SHIFY R2 8Y 177775

I
;THE PS IS NOT EQUAL T0 O
:1S THE RESULT 4000?

;R2 IS NOT EQUAL TO 4000

R adasa itttz st ssaed st ssdsiiiiadaddiiiiastatsattdsaiissstsds)

:TEST 113 RSH

Y0000 SHIFTED BY 177776 = 10000

PS =0

lilllli!l!!ill!illl*!lllliill!llllllllllllllllll!li!llliill!lll!illi

40000, %2
8177776, %2

asPs, Psli

cngSH

#10000, %2
.44

;LORD R2 WITH 40000
iSHIFT R2 BY 177776

'%gv$HESPS 0?

;THE PS IS NOT EQUAL TO O
;1S THE RESULT 10000°

;R2 IS NOT EQUAL TO 10000
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DCKBIB.SRC

SRERREREERE TR IR O 0 000 000 2000000000 0000 000 6 00 30 00 00 30 30 30 30 30 30 0 30 30 31 36 36 30 30 38 00 6 3% % 3 34 o

sTEST 114  ASH 40000 SHIFTED BY 177777 = 20000 PS = O
T T T T T T PP T T T T RS TR

1 SCOPE
3335;3 31% O40000 MOV 40000, %2 :LORD R2 WITH 40000
70227 1772777 ASH 8177777, %2 :SHIFT R2 BY 177777
006102 013767 177776 005634 MOV 8PS PSA :SAVE PS
%ug 7 000000 005626 CMPB  80,PSW 1S THE'PS 07
11 1401 BEQ .+
006120 000000 HLT :THE PS IS NOT EQUAL TO G
006l22 022702 020000 CHP £20000, %2 :1S THE RESULT 200007
006126 00IN0I 8EQ . +4
006130 HLT :R2 IS NOT EQUAL TO 20000
illllill!ll!l!llil!llll&ll!l!l!}llli!ililil!lilllllll!iil!!lli!**iii
:TEST 115  ASH 40000 SHIFTED BY O = 40000 PS = O
lii!!!ll!!!lllliliililllllli!lll!!!ll!!l!li!llll!!lll!l!l!l!!!!i{!!l
006122 10701 SCOPE
0061M 012702 040000 MOV #40000, %2 Lono RE WITH 40000
006140 072227 00C000 RSH 80, 72 "SHIFT R2 BY O
006144 013767 177776 0D0S572 MOV 3PS, PSW :SAVE PS
006152 122767 000000 O00S56M CHPB so Péu :15 THE PS 0?
006160 001401 BEQ .+
006162 000000 HUT :THE PS 1S NOT EQUAL TO O
006164 022702 040000 CHP 840000, %2 1S THE RESULT 40000?
006170 001401 BEQ .+
006172 000000 HLT :R2 1S NOT EGUAL TO 40000
ill*lllll!iillillill!!!!lilllllllllilii!lili!!l{iil!llli!l!lllllli!i
:TEST 116 RSH 100000 SHIFTED BY -15. = =1 PS = 10
!l!lll!li!li*l!llll!lili!!&!!!liil!lillll!llllll!!i!li!lillliil!liil
00e174 010701 SCOPE
006!76 012702 100000 MOV #100000, % :LORD R2 WITH 100000
006202 072227 177761 RSH 8-15. /é :SHIFT R2 BY -16.
006206 013767 177776 DOS530 MOV a8PS Sy :SAVE PS
006214 122767 000010 005522 gima uig,ﬁsu ;1S THE PS 10°
nofmCEEE HL sTHE PS IS NOT EQUAL TO 10
006226 022702 177777 CHP 0-1,%2 :IS THE RESULT -1?
006232 001401 BE 4
2060 HL :R2 IS NOT EQUAL TO -1




MRINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

006240 012702 177777

006256 122767 000011

006270 022702 100000

:
E

iR
i 6

;
£

5
=

100000

MRCY1l 27(732)

0OS466
005460

00S424
005416

00S362
BOS3S4

FO3

01-0CT-76 13:03 PRGE 32

sRREREEERERRFRRERREARLRERRRERERARRRRRRERRERRERRERREEEERR LN EEEEEEEEE

:TEST 117 RSH -1 SHIFTED BY 5. = 100000 PS = 11
iii!ilil!!i!!i!!i!ll!i!!llfiiil!!lll 333 334 3 9030 3 3 3 9% 9 3 36 3 3 3 %% 3 3% % 3 % 3 % % 3% % %

SCOPE

TG S

MOV atgé' EQV‘E PS

EEPB m #su :15 THE PS 117

HL m: PS IS NOT EQUAL TO 11

gens sigoooo.ve 1S THE RESULT 1000007

HLT | ;Ra 1S NOT EQUAL TO 100000

l!Iill!l!!i!ill!ll!li!*i!ll!ll!!l!!i!!illl!l!lil!!!liiii!lli!i!!!‘il

*TEST 120 RSH -1 SHIFTED BY 16. = 0 PS =
llll!!ll!!llll!!ll!iilii!llllll!lll!li!!!lli!lll!l!illiillillllllllz

SCOPE

MOV 8-1,%2 :LORD R2 WITH -1

RSH 816, %2 'SHIFT R2 BY 16.

MOV 38P5. PSW :SAVE PS

CMPB  87,P5K :1S THE PS 77

BEQ .+

HLT :THE_PS 1S NOT EQUAL TO 7

genz soq/a 215 THE RESULT 0?

HLT :R2 IS NOT EQUARL TO O
iil*!illiﬁii*!**!ll!li!!lii!ll!!!!!!!!!!!!!***!l!ll!li!ili****iiiii!
TEST 121 ASH 137777 SHIFTED BY 15. = 100000 PS = 13
llll!l!l!liliil!!liillililﬁ!lli!!illl!!i!!!!!lii!il!!ii!iliil!i!!i*!

MOV uam? %2 :LORD R2 WITH 137777

ASH 815, :SHIFT R2 BY 15.

MOV 8PS’ Psu :SAVE PS

85"58 na psy 1S THE PS 137

HLT :THE PS IS NOT EQUAL TO 13

35"5 uigoooo,-/.e *1S THE RESULT 100000?

HLT ) :R2 1S NOT EQUAL TO 100000




géé-DCKBI-B ASH TEST

00640M
006406
00eM1e
006416
0064

006424
006435
00E4H2
008444

010701
012702
gvege?
013767
122767
00140}
000000

022702
001401
00CC00

1
e

s

)
001401
000000

.-c:scc:

3

001401
000000

125252

000001

177776

000003

052524

125252
177777

000010

152525

125252
177776

000011

165252

MACYLll 27(732)

TEST 122

852524, 7.2
4

; TEST 123

ke

s TEST 124

aspé PSW
111 Psi

GO3

01-0CT-?6 13:03 PAGE 33

L L1222 2222 2222222222 1222222222322 222224 22222228 122222222 222¢2}

125252 SHIFTED BY 1 = S25e4 PS = 3
iii!i*!i!lilli!lli!ii!i!!!iliiililiiiliiiil!il*li!i!*fi!!ii!iii!i*ii

oxasasa % :LOAD R2 WITH 125252
aa#s PSW

:SHIFT R2 BY 1
:SAVE PS
;1S THE PS 37

; THE PS IS NOT EQUAL TO 3
;1S THE RESULT 525247

;R2 IS NOT EQUAL TO S2524

JERRERE RN 0 I3 00 3033 00 30 003 0 00 30 30 3 30 30 38 00 30 36 30 36 48 00 O 36 36 90 36 36 30 36 6 3 36 30 0 3 300 % %

125252 SHIFTED BY -1 = 152525 PS = 10
DEEEEHEE R S R

IIESZSE %2 ;LORD RE HITH 125252
:SHIFT R2 BY
:SAVE PS
;1S THE PS 107
; THE PS IS NOT EQUAL TO 10
!132525,%2 $1S THE RESULT 1525257

;R2 1S NOT EQUAL TO 152525

o SRR I3 0 0 36 00030 303 0 0 00 38 S0 336 3030 36 6 0 96 36 38 36 36 3036 36 38 3 0 3 36 34 30 36 30 30 36 30 38 30 0 3 36 90 36 36 30 38 36 38 %

125252 SHIFTED BY -2 = 165252 PS = 11
T L L T P T P AT 1 P T T T e

#125252,%2 ;LOAD R2 WITH 125252
SHIFT R2 BY -2
SAVE PS
IS THE PS 117
; THE PS IS NOT EQUAL TO il
liSSBSE,ZE :1S THE RESULT 1652527

;R2 IS NOT EQUAL TO 165252




HO3

MAINDEC-11-DCKBI-B ASH TEST MRCY1l 27(732) 01-0CT-76 13:03 PAGE 34
DCKBIB. SRC

R i3 a2 it i el et ssddtditatsidssi et tdstssilississsssstiistsslsss

$TEST 125  ASH Y0000 SHIFTED BY 177762 = 1 PS = [
SEERHEH R S AR

006554 012703 040000 MOV 840000, %3 :LORD R3 WITH 40000
006560 072327 177762 ASH 8177762, %3 :SHIFT R3 BY 177762
006564 013767 177776 005152 MOV S%PS, PSH :SAVE PS

%gra 68?337 000000 005144 gEnPa ou Péu :1S THE PS 07

ooss% 000006 HL ; THE_PS IS _NOT EQUAL TO O
006604 (22703 000001 CHP 81,73 *1S THE RESULT 1

006610 00I401 BEQ .+

006612 000000 HLT sR3 1S NOT EQUAL TO |

§ ST 0 3 0 30 30 30 330 36 36 38 36 9 96 38 36 30 38 36 36 38 36 36 36 36 38 36 38 36 38 30 36 38 36 36 31 36 96 36 36 30 06 30 3¢ 0 6 6 6 36 0 0 % 3% 3¢ 6 46 3

;TEST 126 ASH 40000 SHIFTED BY 177763 =2 PS =0
s B U U R R

006614 010701 SCOPE

006616 012703 040000 MOV $40000, %3 :LOAD R3 WITH 40000
006622 072327 177763 RSH 8177763, %3 SHIFT R3 BY 177763
006626 013767 177776 00S110 MOV aops PSK :SAVE PS

006634 122767 000000 005102 CMPB PSu :1S THE PS 07

006642 001401 BEQ +¢|

006644 000000 HLT ;THE PS IS NOT EQUAL TO O
No6b4s 022703 000002 CHP 82,73 :1S THE RESULT 2?

0066S2 001401 BEQ +¢|

006654 000000 HLT :R3 IS NOT EQUAL TO 2

o SE3E 36338 36 36 36 308 3638 36 3636 36 36 36 38 38 36 30 36 36 30 300 3090 00 0 6 36 6 06 36 36 38 36 30 36 30 38 36 36 36 30 30 36 30 36 00 30 30 3000 00 00 30 01 30 30 30 30 3 6 %

sTEST 127  RSH 40000 SHIFTED BY 177764 = 4 PS = 0
SRR U H O HOHE R R Y

006656 010701 SCOPE
006660 012703 040000 MOV 40000, %3 .LOAD R3 WITH 40000
006664 072327 177764 ASH 2177764, %3 :SHIFT R3 BY 177764
006670 013767 177776 00S046 MOV 38PS, PSl :SAVE PS

006676 122767 000000 00SO40 CMPB cu P5W :1S THE PS 07

006704 DOI401 BEQ

006706 000000 KLY s THE PS IS NOT EOUQL 00
006710 022703 000004 CHP 84, %3 1S THE RESULT Y

006714 001401 BEQ .44

006716 000000 HLT :R3 IS NOT EQUAL TO 4




103

MAINDEC-11-DCKBI-B ASH TEST MRCY11 27(732) OI-OCT-’E 13:03 PAGE 35
DCkBIB.SRC

§ SEJ T I 06 00 28 0606 00 36 00 96 300 36 00 00 00 0 30 00 00 30 00 00 36 30 30 00 3036 30 90 00 36 30 00 00 38 30 00 30 0 00 00 00 U0 SO0 30 0 00 0 00 00

;TEST 130 ASH 40000 SHIFTED BY 17776S = 10 PS = 0
PO O HOHEHHEEH R

006720 010701 SCOPE
006722 012703 040000 MOV 840009, %3 :LOAD R3 WITH 40000

0067 70327 177785 ASH 17??65 %3 :SHIFT R3 BY 177765

006 13767 177776 00SO0M MOV a PSI SAVE PS

006740 122767 000000 004776 wemmJ :1S THE PS 0?

006 336336 BEQ .44

006 HLT :THE PS 1S NOT EQUAL T0 O
005752 022703 000010 CHP 810,73 : IS THE RESULT 107

006756 001401 BEQ .44

006760 000CO0 HLT :R3 IS NOT EQUAL TO 10

5 30303006 3006 36 3036 36 30 36 36 36 36 00 30 3¢ 6 36 36 38 30 30 36 36 3 36 38 36 36 30 06 30 06 9 36 36 38 36 36 30 36 30 36 38 36 36 00 06 00 3 3020 36 36 30 30 30 30 06 30 36 36 36 3 34

;TEST 131  RSH 40000 SHIFTED BY 177766 = 20 PS = 0
SRR HHEHEHHHHEHEHER O G

006 010701 SCOPE
006764 012703 040000 MOV 840000, %3 :LOAD R3 WITH 40000
006770 072327 177766 ASH 8177766, %3 :SHIFT R3 BY 177766
006774 013767 177776 004742 MOV aaps PSW :SAVE PS

007002 122767 000000 OO4734 CMPB  80,P5W :1S THE PS 07

007010 00140 BEQ .44

007012 000000 HLT :THE PS 1S NOT EQUAL TC O
n07014 (22703 000020 CMP 220,73 1S THE RESULT 20°

007020 00i40] BEQ 44

007022 00rJO0 HLT :R3 IS NOT EQUAL TO 20

5 SRSt 36 0096 338 30 3006 36 90 6 368 36 36 36 36 00 30 30 6 36 00 3 36 30 6 36 36 36 36 30 30 30 8 36 36 38 30 30 36 0 38 36 36 30 30 3 338 36 30 36 90 30 30 6 36 30 30 3 34

:TEST 132 ASH 40000 SHIFTED BY 177767 = 40 PS = 0
S HHEHEHHHHH HHHEEHHHHHE B EHEHEHEHEHHHEHHEHOHEH

007024 010701 SCOPE
007026 012703 040000 MOV woooo /3 -LOAD R3 WITH 40000
% 873%7 177767 ASH ums SHIFT R3 BY 177767

13767 177776 004700 MOV 3PS sa :SAVE PS
007044 122767 000000 004672 CMPB 80, PSW :1S THE PS 07
007 Ba0000 By ¥
007054 HLT :THE PS IS NOT EQUAL TO O
007056 022703 0000N0 CMP 840, %3 :1S THE RESULT 40?
007062 001401 BEG +4

007064 000000 HLT | :R3 IS NOT EQUAL TO 40




DCKBIB.SRC

SNS3NRSSRS
JFREFEERIE
8
S

007172 010701
CJ7174 012703

007212 122767
007220 001401
000000

007230 001401
000000

~ - . ——

MRINDEC-11-DCKBI-B ASH TEST

040000
177770
177776
000000

000100

040000
177771
177776
000000

000200

177772

000400

MACY11 27(732)

JO3

01-0CT-76 13:03 PRGE 3%

; TEST 133

sTEST 134

s TEST 135

MoV
RASH
MoV

CHPB

BEQ
HLT
CHP
BEQ
HLT

40000, %3
ll????ﬁ %3
8PS, PSW

l100,23
.44

$40000, %3
2177778 %3
33PS. PSW

#8200, %3
.44

840000, %3
u17777é %3

8400, %3
Y4

lllli!!illl!i*l!ll!lll*!Iillll!illll!ll!lll!l!llli;;lllﬁllllll*lilll

40000 SKIFTED BY 177770 = 100
D RS IHHHEEE I HHHH

SCOPE

;LORD R3 WITH 40000
SHIFT R3 BY 177770
:SAVE PS

;15 THE PS 07

; THE PS IS NOT EQUAL TO O
;1S THE RESULT 1007

;R3 IS NOT EGUAL TO 100

s R 333 3 33330 I 0003 03I R 3 330 3 30 R 3
40000 SHIFTED BY 177771 = 200 PS = 0
S EEHEEHEEHHH I

SCOPE
MOV

;LORD R3 WITH 40000
:SKIFT R3 BY 177771
;SPVE PS

:1S THE PS 07

; THE_PS IS NOT EQUAL TO O
;1S THE RESULT 2007

;R3 IS NOT EGUAL TO 200

§ S0 3036 3030 36 3036 36 36 90 36 36 0 36 36 36 38 3 36 36 36 36 46 3630 36 36 38 96 08 36 36 36 90 36 36 36 36 36 30 36 36 38 36 3 36 36 38 38 3 36 3436 36 36 96 3 36 3¢ 36 3 3 36 3% 36 %

40000 SHIFTED BY 177772 = 400 PS =
L EEREEE RO R

SCOPE

;LORD R3 WITH 40000
sSHIFT R3 BY 177772
;SAVE PS

:1S THE PS 0?

; THE_PS IS NOT EQUAL TO O
:1S THE RESULT 400?

;R3 IS NOT EQUAL TO 400




MRINDEC-11-DCKBI-B RSH TEST

0CKBIB.SRC

007276
007300
007304
007310
007316
007324
007326
007330

007334
007336

010701
012703

§i5%67 |

122367
0608
022703

00401
000C00

040000
12777
172277

000000

001000

040000
177776
000003

004000

MACYLl 27(732)

004470
004462

004426
004420

00436M
004355

KO3

01-0CT-76 13:03 PARGE 37

5 SEIRIE3 IR0 006 3036 36 3030 06 30 30 30 36 36 30 36 30 36 06 936 00 30 3098 38 38 3030 36 30 38 30 3036 30 38 30 30 36 30 30 30 38 36 36 30 34 31 50 31 30 36 30 3 30 30 30 B0 6 34

:TEST 136 ASH 40000 SHIFTED BY 177773 = 1000 PS = O
i*lli!!iillllil!ii!ii!li!ili!i!il!!!iii!ii!*i!!!ili!i!i!lill*ll!ll*l

SCOPE

MOV 840000, 3 :LOAD R3 WITH 40000

ngu u17777§ %3 guxrr R3 BY 177773

MOV S%PS, PSl

ggpe cgqpéu 1S THE PS 0?

HL :THE PS 15 NOT EQUAL TO O

SES uigoo,za . IS THE RESULT 1000°

HLT ) :R3 1S NOT EQUAL TO 1000

3 SR 0SS A 0 06 0000 300000 36 38 0 8 30 3036 3606 36 36 36 36 36 36 0 06 30 30 36 36 36 3696 38 36 396 3 06 38 36 30 36 38 38 36 38 36 36 36 3 36 36 36 3¢ 26 3¢

:TEST 137 ASH 40000 SHIFTED BY 177774 = 2000 PS = O
iii!!i!ii!l*il**!*!l*!*ll!!i!*ll!!**iii!!i!l*li***!l!l*!i!****!l*i**

SCOPE

MOV #40000, %3 :LOAD R3 WITH 40000

ASH 8177774, %3 ‘3SHIFT R3 BY 177774

MOV a¥PS, PSH 1GAVE PS

CMP8  80,PSu :1S THE PS 07

BEQ .44

HLT :THE PS IS NOT EQUAL T0 O

ggg oagoo,za :1S THE RESULT 20007

.
HLT :R3 IS NOT EQUAL TO 2000

3 3 II0 I 0330 36 30000006 06 00 36 30 30 36 36 36 00 00 0 3036 30 36 0090 366 36 36 36 36 3696 308 36 36 36 30 06 36 30 36 36 36 36 00 36 30 30 38 36 36 36 36 30 30 6 36 36 3

TEST 140 ASH 40000 SHIFTED BY 177775 = 4000 PS = O
iil!li!!i!i!i!lii!!i!!*il}ii!*I*i*iiii!ii*i*i!!*li*l**l!*ii!!*!*****

SCOPE

MOV $40000, %3 ;LOAD R3 WITH 40000

ASH 8177778, %3 :SHIFT R3 BY 177775

MOV 98PS . PSK :SAVE PS

gemae :o P&u :1S THE PS 07

HLT :THE PS 1S NOT EQUAL TO O

8;"2 32300,'/.3 :1S THE RESULT 40007

HLT | :R3 IS NOT EQUAL TO 4000




44 il
A “
MAINDEC-11-DCKBI-B ASH TEST  MACY!l 27(?32) O01-0CT-76 13:03 PAGE 38 '
DCKBIB. SRC
l!****i**l!!*!*!!!*l!*!!!!*il*ll!l*!i!!l*!*!i’!!*!*!l!!*!i!!***l*ii!
STEST 141  ASH 40000 SHIFTED BY 177776 = 10G00 PS = O
i!l!i*iiii!!ii!!ii!i*!ii*i!iliii!i!!!l!li!lilll!!iili*!iliii!!ii!!li
po7u02 010701 SCOPE
007404 012703 040000 MOV $40000, %3 :LORD R3 WITH 40000 )
007410 072327 177776 ASH 2177776, %3 sSHIFT R3 8Y 177776 ¢
007414 013767 177776 004322 MOV 38PS, PSl :CAVE P v
007422 122767 000000 004314 CMPB  #0,P%uW 1S THE PS 0?
007430 001401 ) BEQ 44
007432 000000 HLT . THE PS IS NOT EQUAL TO O
007434 022703 010000 CHP $10000, %3 :1S THE RESULT 10000?
007440 001401 BEQ per
007442 000000 HLT :R3 IS NOT EQUAL TO 10000
!iii!l!!l!il*li!!!i!!*!i!!li!*i*lil!!!!!iilill*l!!!!i!!*ii!l!lili!i!
:TEST 142  ASH 40000 SHIFTED BY 177777 = 20000 PS = O
lliil!il*!*iiil**l*l***i!l**!******!i****i*li!i******iii!***********
007444 010701 SCOPE
007446 012703 040000 MOV $40000, %3 :LORD R3 WITH 40000
007452 072327 177777 ASH 8177777, %3 :SHIFT R3 BY 177777
007456 013767 177776 004260 MOV 3PS PSH :SAVE PS
007464 122767 0CO0D00 004252 CMPB 80, P :1S THE PS 0?
007472 001401 BEQ e
007474 000000 HLT -THE PS 1S NOT EQUAL TO O
007476 022703 020000 CMP #20000, %3 *1S THE RESULT 200007
007502 001401 BEQ L+
007504 000000 HLT :R3 IS NOT EQUAL TO 20000
!il*iii*i!*il!****!**i*i**ii*ii!**!*iiii****liili*i!ii!l*!!ii*i*li!i
:TEST 143  ASH 40000 SHIFTED BY O = 40000 PS = 0
l!!iill!!!!!l!*i!!!*iliii!*!!llili!*li!i!!!ll!l!!il!!illl!llilii!l!l
! 007506 010701 SCOPE
007510 C12703 040000 MOV 40000, %3 :LOAD R3 WITH 40000
807514 072327 000000 ASH 0. 73 :SHIFT R3 BY O
007520 013767 177776 004216 MOV asbs, PsW :SAVE PS
007526 122767 000000 004210 CMPB su P& 1S THE PS 0?
007534 001486 BEQ
00783 0000 HLT :THE PS IS NOT EQUAL TO O
007S40 022703 040000 CHP $40000, %3 : 1S THE RESULT 400007
| 0C7544 001401 BEQ .44
a 007546 000000 HLT :R3 1S NOT EQUAL TO 40000




DCKB1B.SRC

007616

007612
007614
007620

007632
007640
007e42
007644
007650
007652

007654
037656
po7ebe
007666
007674
007702

| 007706
007712
007714

010701
012703
072327
013767
22767
1401
000000
022703
001401
000C00

010701
012703
072327
013767
122767
001401
000C00

001401
000000

MRINDEC-11-DCKBI-B ASH TEST

100000
1772761
177776
000010

177777

177777
000017
177776
000011

100000

177777
000020
177776
000007

000030

MO3

MARCY1l 27(732) 01-0CT-76 13:03 PAGE 39

004154
004146

004112
004104

0040S0
004042

SRR R RRRRE AR RERRRRRARE R AR IR AR RS
:TEST 144  ASH 100000 SHIFTED BY -15. = -1 PS = 10
SRERRERE R R R R E AR

SCOPE

MOV axouuun %3 :LOAD R3 WITH 100000

ASH %3 :SHIFT R3 BY -16.

MOV avs #su :SAVE PS

ggge 110 psu :1S THE PS 107

HLT ;THE_PS 15 NOT EQUAL TO 10
CHP 8-1,%3 :1S THE RESULT -1°

BEQ L +4

HLT :R3 IS NOT EQUAL TO -1

§ RSB0 I I 00 0036 00 03 30 30 96 30 3 36 6 36 30 30 30 3F 30 30 00 30 6 30 30 36 36 00 30 30 6 36 30 36 36 96 3 0 6 36 36 36 36 06 30 00 300 36 36 30 36 36 %

TEST 145 ASH -1 SHIFTED BY 15. = 100000 PS = 1l
!i!l*!iii*ii**i*i*i**!i*lii***ii**i!***i*lili*ii**!*****i******!!**!

SCOPE

MOV .-1,73 :LOAD R3 WITH -1

ASH 815 ,%3 SHIFT R3 BY 15.

MOV J#PS’ PSW £ PS

CMPB  #11,PSW IS THE PS 117

BEQ Y4

HLT s THE_PS 1S NOT EQUAL T0 11

EEE sigoooo,za *1S THE RESULT 100000?

HLT :R3 IS NOT EQUAL TO 100000

l!l!ll!ll!llll!l!l!i!lll!i!ll!iilil!ll!ll!l!iiil*li!lili*l!llliilill

:TEST 146 RASH -1 SHIFTEDBY 16. = 0 PS =
!*l*liil*l!!*!!l!llll*iiil!lili!!!li!*!ll!i!l!!i!lli!!l!i!llili!l!ll

SCOPE

MOV 8-1,%3 sLOAD R3 WITH -1

ASH 816, ,%3 :SHIFT R3 BY 16.

MOV J4PS PSW :SAVE PS

CMPB  #7,PSW ;1S THE PS 77

BEQ Y

HLT : THE PS IS NOT EQUAL TO ?

CMP 80, %3 ' IS THE RESULT G?

BEQ .44

HLT :R3 1S NOT EQUAL T0 O




- e — A - —

MRINDEC-11-DCKBI-B RSH TEST

OCKBIB.SRC

010701
012703
72327
013767
122767
001401
000000
022703
00.401
00CC0o0

10701
012703
072327
014767
122767
001401

022703
201401
000000

010701
012703
072327
013767
122767
001401
000000
022703
001401
000000

137777
000017
177776
000013

100000

125252
000001
177776
000003

0sesa4

125252
177777
177776
000010

152525

NO3

MACY1l 27(732) O01-0CT-76 13:03 PAGE 40

004006
004000

003744
003736

003702
003674

PREREERREFREINHEIENIRIN I3 I 30T 3 36063098 6 06 36 30 30 20 0000 30 30 00 36 30 36 90 00 30 38 30 3 31 36 30 3 2 3 3

:TEST 147  ASH 137777 SHIFTED BY 1S. = 100000 PS = 13
DEHEEEEHEHHEE R R

SCOPE

MOV 8137777,%3 :LORD R3 WITH 137777

ASH 815, %3’ :SHIFT R3 BY 16.

MOV 34PS  PSW :SAVE PS

ggga sxa PSid 1S THE PS 137

HLT :THE PS IS NOT EQUAL TO 13
328 aigoooo,za +1S THE RESULT 1000007

HLT ] :R3 IS NOT EQUAL TO 100000

s SRR EI AT I T NI I I I T I J I 0 T 0000 3 00 3 300090 0 3 9 39 36 936 0 B R 6 B

;TEST 150  ASH 125252 SHIFTED BY | = 52524 PS = 3
PEEBEEEEHEHE R R

SCOPE

MOV £135252, 42 :LOAD R3 WITH 125252

ASH £1.73 :SHIFT R3 BY 1

MOV 34PS . PSW :SAVE PS

CMPB  #3,P5W 1S THE PS 37

BEG e’

HLY s THE PS IS NOT EQUAL TO 3
ggz agssaq,za s1S THE RESULT 525247

HLT :R3 IS NOT EQUAL TO 52524

5 36363636 36 36 36 36 36 36 36 36 36 36 36 36 36 36 38 36 36 36 36 36 36 3036 36 36 36 38 36 36 36 36 36 36 36 38 36 36 36 36 36 36 36 36 36 36 36 36 36 96 30 36 063 3t 3¢ 3¢ 36 3 30 e ik 2

:TEST 151  ASH 125252 SHIFTED By -1 = 152525 PS = 10
DA O O R R

SCOPE

MOV axasasa %3 ;LOAD_R3 WITH 1asasa

ASH %3 :SHIFT R3 BY

MOV anpé PSW :SAVE PS

ggze slo PSi :1S THE PS 107

HLT :THE PS 1S NOf EQUAL TO 10
EEE uiaeses,za +1S THE RESULT 1525257

HLT | :R3 IS NOT EJUAL TO 152525
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MAINDEC-11-DCKBI-B RASH TEST MRCYLL 27(732)

DCkBIB.SRC

g

Beg
Bregeo

&

sleo/eloolelelalols]
e s Pt Pt Po Pt $0 P Pt b
OO000000
o beps s pe pe
PR ERT
—
‘g
(o= )
=
ERQE
—©OV—

:

QOO0 0O000O00
Pt Bt Puat Pt P Pt ot Pt Prud Pt
OO0O0000MM0O0o0
o—-;o—-o—.—t—o—-o—r—o—-
FEERPFESEWR

R
S
8

coopooonno
SHREGS

&
8

BO4

C1-0CT-76 13:03 PAGE 41

R 31322213 TR IELSTI S22 2822222228222 22222228 2)

; TEST 182
;!llilllil!llilll!illiillllllIllllill!illi!!lillllli!!!llii!liil"!!ii

125252 SHIFTED BY -2 = 165252 PS = 11

8125252,%3 ;LORD R3 WITH 125252
T R3 BY -¢

8-2.%3 :SHIF
3PS Psu :SAVE PS
.i&.bsu 15 THE PS 11°

;THE PS 1S NOT EQUAL TO 1!
0135852,'/-3 ;IS THE RESULT 1652527

:R3 IS NOT EQUAL TO 165252

s REERREREREEEEEEEEEEEEEHEEREEEEE SRR EEE R EE TR EEEREEEEEEEEEEEEEEEEEEE

’
; TEST 183
;llll!lllll!il!illlll!llllillll{!li!lll!llli!illillll*llllllilll!llil

Y0000 SHIFTED BY 177762 =1 PS =0

$40000, 74 :LOARD RY WITH 40000
8177762, %M :SHIFT R4 BY 177762
a8PS, PSH :SAVE PS
ongSu 15 THE PS 07

- THE PS IS NOT EQUAL T0 O
.iﬁm ;IS THE RESWULT (?

;RY IS NOT EQUAL TO I

3 SIS I SIS0 30 G630 38 0096 30 330 00 00 0008 40 S0 30 2000 0 300 00 00 30 96 06 38 36 90 36 38 309 06 30 36 30 36 6 30 31 38 98 8 96 3030 36 0 00 3 3

; TEST 154
;Ilil!!!!!!!!!ilill!!!!ill!&ll!!*iiiill!ii!iili&!!!ll*lll!iiliill*l*i

40000 SHIFTED BY 177763 =2 PS = 0

$40000, 74 ;LORD RY WITH 40000

8177763, 74 :SHIFT RY BY 177763

38PS, PSH :SAVE PS

cgqpsu ‘15 THE PS D?

) : THE ;5 IS NOT EQUAL TO O
'54"‘"' t1S THE RESWLT 27

;RY IS NOT EQUAL T0 2




MAINDEC-11-DCKBI-B8 RSH TEST
DCKBIB. SRC

: Bk

010274
010276
018302
010306
010314
010322
010324
310326

016332 001401
010334

S
.
S
Py

S

g

MACYLl 27(732)

003472
003464

003430
003422

003366
003360

COH

01-0CT-76 13:03 PAGE 42

JERRERERRA RS R RAERERERERRR R R0 0 S0 00 00 000 000 3 0 50 002 00 06 0 0 2 2 2 B

Y0000 SHIFTED BY 177764 = 4 PS = 0

!!l!!!ll!i!!ii!lliliili!ii’llll!!l!l!l!i*l!lill!l!ll!li!ilii!i!*!!ii

:TEST 1S5 RSH
SCOPE
MOV 840000, “N
ASH 8177764, 74
MOV 38PS, PSl
cMP8 80, P4
Pz .+4
WL
CHP "™, 74
BEQ +4
HLT

;LORD R4 WITH HCOOO
SHIFT RY BY 177764

SAVE PS
IS THE PS 07

;THE PS IS NOT EQUAL T0 O
;IS THE RESULT 47

;R4 IS NOT EQUAL TO 4

JRRRREREREREREETEERERIEERE KRR REF R RN E RT3 2300 O3

40000 SHIFTED BY 177765 = 10

PS =0

!lil!!llilllllilii&lii!li!iiliilllllllllll!lillll}ili!ll!llll!!lilll

‘TEST 156  RSH
SCOPE
MOV 840000, ¥4
RSH 8177765, “4
MOV 38PS PSU
CMPB  80,PSH
BEQ .4
HLY
cHP 810,74
BEQ L+4
HLT

;LORD RY WITH 40000
ggéFT R4 BY 177765

E PS
;1S THE PS 07
;THE PS IS NOT EQUAL TO O
;1S THE RESULT 107

;R4 IS NOT EQUAL TO 10

s RIS 30 3R 06 3k 30 0030 GO0 I 0000 00 00 36 00 30 06 08 06 90 338 098 3690 SH30 00 90 30 30 00 30300 00 38 0 00 3 0 0 30 8 26

40000 SHIFTED BY 177766 = 20 PS = 0

l!!llil!il!llllliliﬁll!llli*lillli!liililllliiiiil!l!iilill!ili!ii*l

:TEST 157 RASH
33395 $40000, X4
ASH $17776b, 74
MOV 8PS PSh
P8 $0,P5u
BEQ .44
HLT
cHP 820,74
BEQ #'4
HLT

;LORD RY WITH 40000
SHIFTPEQ BY 177766

; SRVE
;15 THE PS O?

; THE PS IS NOT EQUﬂL T0 0
;1S THE RESULT 207

;R4 1S NOT EQUAL TO 20




MRINDEC-11-DCKBI-B RSH TEST

OCkBI3.SRC
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MRCYL1 27(732) 01-0CT-76 13:93 PRGE 43

CRRRERRREARAFRRRRRRCHRERRRRAREE R AR AR AR SR HERRRRRRRRRRR RS SRR EERERE

;TEST 160  ASH NOOOQ SHIFTED BY 177767 = 40 PS = 0
ill!i!lll!llii!lli!iiliilll{llllilill!!ii!!lll!!l!il!!ii*illlllll!i!

SCOPE

MOV s40000, “M RY WITH

ASH 8177767, 74 sﬂ“?r m év ;9929

MOV 8PS, PSH

CMP8  #0,P5M xs mz PS 07

BEQ .+Q

HLT <THE PS IS NOT EQUAL TO O
55"8 023,'/.9 : 1S THE RESULT 407

HLT :RY IS NOT EQUAL TO 4O

i3 da2i 2222l il dcdatditsdidasialiadatastisdidotdsssalelasledsss)

;TEST 161  ASH 40000 SHIFTED BY 177770 = 100 PS = 0
DB R SO

SCOPE

MOV %M _O0AD RY WITH 40000

ASH mmb %M SHIFT R4 BY 177770

MOV 8PS, PSW :SAVE PS

CMPB oo Psu 1S THE PS 07

BEQ e

HLT :THE PS IS NOT EQUAL TO O
% 'iE“-"* 1S THE RESULT 1007

HCT :RY IS NOT EQUAL TO 100

3 AT 00 SRS AE 00 00 430 30 36 06 00 30 00 6 130 36 360 30 3098 36 36 36 30 36 00 6 36 T30 0 36 00 00 030 36 30 90 30 330 36 36 36 34 36 90 30 3 30 36 3 3

s TEST 162  ASH 40000 SHIFTED BY 177771 = 200 PS = O
DU HEHEHO HHHEB EHBHEHHHHHE HHEHUHHHHE O O

SCOPE

MOV 840000, %4 :LORD R4 WITH 40000

ASH 8177771 2 :SHIFT R4 BY 177771

MOV 8PS, PSU :SAVE PS

g{n;s ogqpéu 1S THE PS 07

RCT :THE PS IS NOT EQUAL TO O
SEE -ggo,zq 1S THE RESULT 200"

Ll ’ :RY IS NOT EQUAL TO 200




EQ4

MAINDEC-11-DCKBI-B RSH TEST MACYL1 27(732) 01-0CT-76 13:03 PRGE 44
DCKBIB.SRC

ERRRARERARHARARRRRERRRNERERRERARRRARRAHARERERERERE RN NNARAEERARE RN

;TEST 163 ASH 40000 SHIFTED BY 177772 = 400 PS = 0
T e e e e P e e e R T AR R

010596 010701 SCOPE

DIRey Psugr S7oer M "'°°°°7m W ENPT R B 1

iRy 5isEr | 003156 MOV  J%PS.PEL ?nvs PS

oiosss 122767 000000 003150 gema ‘Qpéu :1S THE PS D?

3&?‘5 HL -THE PS 1S NOT EQUAL TO O

010600 022704 DOOMO0 CHP 400, 74 : 1S THE RESULT 007

010604 00INO0! BEQ .4

010606 000C00 HLT :RY IS NOT EQUAL TO 400
lll!ll!l}l!lll!!llll!ll!iilllili!lillil!ll!ll!l!ll!l!{i!!lll!!*!ill!
'TEST 164 RSH 40000 SHIFTED BY 177773 = 1000 PS = 0
llllil!llllliiiiililllll!l&!lilill!ll!!lill!lli*l!lliilli*i!li!llll!

010610 010701 SCOPE

010612 012704 040000 MOV $40000, %4 :LOAD RY WITH 40000

0{0515 g‘laa;la; 177773 00311 % ll????Pgn'/"l EH\I,FT qu gY 177773

SRS 24357 003106 CHPB Pgsu :xs S oPs 02

gins % ﬁ? NOT s 70 O

010642 022704 001000 CHP uooo,-/.w IS nf E

010646 001401 8EQ .+4

010650 000000 HLT :R4Y IS NOT EQUAL TO 1000
l!!!!!l!*lil!illii!!lil!l!*l!!llliii!l!llillli!l*!!ii!l!lllll!!il!l!
:TEST 16§ ASH 40000 SHIFTED BY 177774 = 2000 PS = 0
ill!iiil!illlill!!!!lil*il*il!l**!iil*!i**!*i{!liilliliiiill!l**liii

010652 010701 SCOPE

01084 012704 040000 MOV $40000, "4 -LOAD RY WITH 40000

010660 27 177774 RSH 8177774 %4 sSHIFT R4 BY 177774

010664 013767 177776 0030S2 MOV 38PS, PSH :SAVE PS

010672 122767 000000 00304 CMPB  80,PSM ;1S THE PS 07

010700 00;401 BEQ .+

010702 HLT :THE PS IS NOT EQUAL T0 O

010704 022704 002000 CHP #2000, %4 : 1S THE RESULT 23007

01071C 001401 BEQ .44

010712 HLT :R4 IS NOT EQUAL TO 2000




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

010714 010701
010716 012704 040000
010722 g4e? 177775
010726 013767 177776
8{0739 122767 (000000
A
010746 02270M 004000
010752 001401
010754
010756 010701
010760 012704 0O40000
01C76M g7 177776
010770 013767 177776
Ci0776 122767 000000
011004 001401
011006
011010 022704 010000
01:01+ 001401
011016
R
011026 07242; 1
011032 013767 77776
011040 122767 (0CGCO0
01104 001401

, 011050
011052 022704 020000
011056 001401
011060 000000

MACYLl 27(732)

003010
003002

002746
002740

002704
002676

FOY

01-0CT-76 13:03 PRGE 45

CEERRERREEREERERE RT3 I3 5030000 30 36 3 30 3630 38 0 94 30 30 38 30 00 30 38 3096 30 06 38 30 30 3 30 3% 38 3 3

Y0000 SHIFTED BY 177775 = 4000 PS = 0
PREEHHEEE R DO

;TEST 166  ASH

SCOPE

840000, %4 :LOAD R4 WITH 40000
0177?75 %4 :SHIFT RY BY 177775

:SAVE PS
so Péu :1S THE PS 07

:THE PS IS NOT EQUAL TO O
u:goo %y *1S THE RESULT 40307

;R4 IS NOT EQUAL TO 4000

5 SRR EEER R IEETEIII I I3 20006 00303630 00 30 30 30 00 30 30 36 31 38 06 36 30 36 330 06 30 36 36 9 06 36 36 36 36 36 3 3¢ %

40000 SHIFTED 8Y 177776 = 10000 PS = O
D REEHEEEHER R

STEST 167  ASH

SCOPE

$40000, %4 :LOAD RY WITH 40000
8177775, %4 'SHIFT R4 BY 177776
3PS, PSH :SAVE PS
cgﬁpsna 1S THE PS 07

:THE PS IS NOT EQUAL TO O
cigooo,zq 1S THE RESULT 100007

;R4 IS NOT EQUAL TO 10000

5 SIS 30 33036 3630 36 38 36 38 36 36 38 36 38 38 36 38 38 3030 36 36 3836 38 38 36 38 36 36 38 38 3690 30 36 3498 36 36 34 00 36 96 30 30 30 36 96 66 96 96 6 6 6 6 3

Y0000 SHIFTED BY 177777 = 20000 PS = 0
SRR R R

:TEST 170  ASH

840000, 74 :LORD RY WITH 40000
8177779 74 SHIFT RY BY 177777
3¥PS, PSU :SAVE PS
no 5T :1S THE PS 07

:THE PS 1S NOT EQUAL TO O
nggooo,zq :1S THE RESULT 20000?

;RY IS NOT EQUAL TO 20000




MQINDEC-11-DCKBI-B ASH TEST
OCKBIB.SRC
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5 EIRSE 0 0696 90 3048 30 98 9 96 96 96 06 38 38 38 630 30 90 30 06 96 36 30 38 36 98 98 30 36 3 3 e 96 96 38 36 36 30 36 30 3 36 96 36 36 36 3¢ 36 3 36 3 3 3 36 36 36 36 3¢ 4% % %

(TEST 171  ASH 40000 SHIFTED BY O = 40000 PS = O
l!iiilllllllil!*li!llillll*!l!!llliill!l*l!!!!!ll!lliil**ll!!ill!lli

SCOPE

MOV 40000, %4 :LOAD Rq HITH 40000

ASH 80, 7N :SHIFT R4 BY O

MOV a8PS PSW : SAVE PS

ggpa 'EQPQ“ :1S THE PS 07

HL? ) +THE PS IS NOT EQUAL TO O

ggz a:goou.zw :IS THE RESULT 40000?

HLT ) :RY IS NOT EQUAL TO 40000

o S IR0 00 33 36 0030 36 30 90 36 3036 36 30 36 36 0 30 38 3636 38 6 30 36 36 38 6 36 36 30 96 30 38 36 309 30 36 36 38 46 36 36 36 38 36 96 36 36 3¢ 36 6 9 36 3¢ 96 36 3 3¢ 3¢ %

'TEST 172 RSH 100000 SHIFTED BY -15. = -1 PS = 10
!!!l*i*iii!!*!!lil!*i*l!*!i!****!!&!**!*il*!!!li!ii!!!*i!i!i**!!!ii!

SCOPE

MOV uooooo %Y ;LORD RY WITH 100000

ASH 74 snxrr RY BY -15,

MOV aops pou :SAVE PS

ggge 010 PSi +1S THE PS 107

HLY :THE PS IS NOT EQUAL TO 10

CMP e-1,%4 1S THE RESULT -1°?

BEQ L+’

HCT :RY IS NOT EQUAL TO -l
illl!!l!l!iliillilllil!ilill!lll!li!illli!!ll!ilif!!ll!il!il!!l!ll*l
:TEST 173  ASH -1 SHIFTED BY 15. = 100000 PS = 11
i!iill!lll!l!!l!!!l!!l**l!*!!ii*lll*i*i!ii!*i!!!*il!*li***ili*l!*i**

SCOPE

MOV 81,74 ;LOAD RY WITH -1

RSH 815,74 SHIFT R4 BY 1S.

MOV 38PS PSU :SAVE PS

ggze 011 PSi -IS THE PS 117

HLT : THE PS 1S NOT EQUAL TO 11

gg oigoooo,-/.q 1S THE RESULT 100000”

HLT ) :RY IS NOT EQUAL TO 100000




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

011230 010701

011232 012704 177777
011236 072427 000020
0lle4e 013767 177776
011250 122767 (000007
011256 001401

011260 000000

011262 022704 000000
011266 001401

011270 (000CO0

011272 010701

011274 012704 137777
011300 Q07427 000017
011304 013767 177776
011312 122767 000013
011320 001401

011322

011324 022704 100000
011330 001401

011332 0006000

011334 010701

01133 012704 125252
011342 072427 000001
011346 013767 177776
011354 122767 (000003
01136 001401

011364 (000000

011366 022704 05254
011372 001401

011374

MRCYLl 27(732)

002474
002466

002432
002424

002370
002362

HO4

01-0CT-76 13:03 PAGE 47

3 S0 J 00 00 06 8 36 30 06 3048 38 36 06 90 6 36 30 06 3038 36 30 30 38 36 0040 30 306 00 36 30 36 00 30 6 36 36 30 30 6 30 90 36 30 6 36 30 31 3630 00 B M 0 B R

-1 SHIFTED BY 16. =0 PS =7
R HH HEEHHEHHHEHH I R

:TEST 174 ASH

SCOPE
MOV
ASH
MOV

8-1,74
816, , /Y
GOPS PSW
c? P&

80,74
0

;LORD RY WITH -1
:SHIFT R4 BY 16.

:SAVE PS
:1S THE PS 77

; THE PS IS NOT EQUAL TO 7
;1S THE RESULT 07

;R4 IS NOT EQUAL TO O

liiil*ill**l*ll¥l*ll*l!*lll**ll****l*llll!!li*l*llil*llll*l*i*!*!li!

137777 SHIFTED By 1S. = 100000 PS =
l!i**lil!ill*i*!!!liii!*ll*l!**il*!!il!!i**l*li*l****!*!&i*l!*ll****

;TEST 175  ASH

$137777,% :LORD RY WITH 137777
¢15, %4’ :SHIFT RY BY 15.
3PS’ PSW :SAVE PS
'ia “PSi :1S THE PS 137

:THE PS 1S NOT EQUAL T0 13
oigunon,zq :1S THE RESULT 1000007

;R4 IS NOT EQUAL TO 100000

3 SE3IE 36 00006 36 30 06 00 6 36 30 96 30 0 36 36 36 06 0 36 306 636 36 36 36 3 38 36 38 36 38 36 30 00 38 36 90 06 3 36 36 3036 36 30 30 30 38 36 30 0 0 36 36 36 30 6 26 3

125252 SHIFTED BY | = 52524 PS = 3
LB HEHHHHHOH O HOHEE OO HOHEHHEHE

:TEST 176  RASH

8125252, 74 -LOAD RY WITH 125252
81, 74 :SHIFT R4 BY 1
3PS PSUW :SAVE PS
ingSH :1S THE PS 37
:THE PS IS NOT EQUAL TO 3
nissaq,/q :1S THE RESULT 525247

;R4 IS NOT EQUAL TO 52524




MAINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

l 010701

1 0127

11404 Q72427 177777
11410 013767 177776
{1416 122767 000010
l
l
l
l

2

125252

1424 mﬂ 1486

1430 022704 152525
1434 001401
1435 000000

O000000000

OO0 0O0D
P Pt e P fm s e
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Bi57er 17779
122767 (000000
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SEnRErE
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e 0ma o B ot Bt Pt
iR
Ho 2R

001401
000000

MACY1l 27(732)

sTEST 177

anpd. Psu
310 2

: TEST 200

awépsu
311 PSid

:TEST 201

40000, %S
1177?g§a/s ,SHIFT RS BY 177762
:SAVE PS

104

01-0CT-76 13:03 PARGE 48

3 SEIEIEIEIEI 00 06 0030 J0 00 00 00 30 30 00 40 36 36 36 30 3006 30 06 0 36 06 90 3630 30 36 30 3098 36 30 30 36 36 36 36 6 3¢ 30 06 30 0 36 38 30 30 8 30 30 90 6 36 3¢ 3 036 3¢ 3¢ o

125252 SHIFTED BY -1 = 152525 PS = 10
§ UL

0125852 M :LOAD RY WITH 12S2¢2
;SHIFT R4 BY -1
sSAVE PS
;IS THE PS 10?
:THE PS 1S NOT EQUAL TO 10
3152525,24 s 1S THE RESULT 1525252

;R4 IS NOT EQUAL TO 152525

5 SH3 363836 36 38 36 3 36 36 38 38 36 36 3¢ 38 36 36 36 36 38 38 36 36 36 36 36 36 3 36 36 36 3¢ 34 36 38 3096 30 3¢ 3490 36 30 30 0 06 00 0 6 00 36 20 320 36 30 30 34 26 3 30 3 00 4

125252 SHIFTED BY -2 = 185252 PS = 11
FEEEEHHEHHEHEHHE I HHEHEHHHBHH O

8125252, %4 ;LOAD R4 WITH 125252
'SHIFT RY
!SAVE PS
:1S THE PS 117
:THE_PS 1S NOT EQUAL TO 11
$165252, 74 115 THE RESULT 1652527

;R4 IS NOT EQUAL TO 165252

5 SE3E3HSRI30 36 330 30 00 30 3038 30 38 36 38 38 36 36 30 308 30 26 30 3 30 96 36 96 36 36 30 30 30 66 6 3 36 36 38 3¢ 36 3¢ 3¢ 36 36 36 36 3 36 36 36 36 3¢ 36 36 3 30 3 3 3

Y0000 SHIFTED BY 177762 =1 PS =0
S U HHHHEHHEHHEHHEHH HEE R HEE RO R

LOAD RS WITH 40000

;1S THE PS 07

; THE PS IS NOT EQUAL TO O
+1S THE RESULT 17

;RS IS NOT EQUAL TO |
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HﬂINDEC-éé-DCKBI-B ASH TEST

040000
17732
000000

000002

040000
177764
177776
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040000
1;;;%5
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MACYLl 27(73¢2)
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00204

b

o4

01-0CT-76 13:03 PAGE 49

st il ssalsddadiaddlallssdiloisiedisistatissestsssatatdsss

RSH 40000 SHIFTED BY 177763 =2 PS =0
PR HHEHEHHEH I HOHE A

:TEST 202
SCOPE
MOV #40000, “S
ngﬂ '177733 75
MOV
CMPB 0 Péu
BEQ L4
HLT
cMP 82,78
BEQ L +4
HLT

;L0AD RS WITH 40000
gHIFT RS BY 177783

;1S THE PS 0?

; THE PS IS NOT EQUAL TO O
: IS THE RESULT 27

;RS IS NOT EQUAL T0 2

3 E3IE I I3 30 33 30 3 3 3303 33 36 3 3330 3 I 030 3TN RRRRRRRERRRRRRERREREE R

ASH 40000 SHIFTED BY 177764 = 4 PS = 0
SRR R H HEHEHE R

s TEST 203
SCOPE
MOV 840000, %5
ASH $17776%, %5
MOV 3PS, PSH
CMPB  #0,P5W
BEQ .+
HLT
CMP 4, %5
BEQ 44
HLT

;LORD RS WITH 40000
:SHIFT RS BY 17776Y4
:SAVE PS

;1S THE PS 0?

; THE PS IS NOT EQUAL TO O
;1S THE RESULT 42

;RS IS NOT EQUAL TO 4

5 JE3EJE9 3630 30 3636 36 90 36 3636 36 96 96 3638 36 06 36 3636 36 3036 36 36 30 30 6 36 36 36 00 3636 36 3638 36 96 30 4038 36 96 36 336 3690 336 36 3030 3 30 36 30 2 3 36 3 30

ASH 40000 SHIFTED BY 177785 = 10 PS = 0
S HEHHHEHHHHHE HEHEHHEHEHEHHOHOH I EHEHHEHEH HEHEHEEHHEHHHEHEH

TEST 204
SCOPE
MOV 840000, %5
ASH 8177768, %5
MOV J8PS, PSh
cMP8 0, P5K
BEQ .44
HLT
CHP 810,45
BEQ .44
HLT

;LOAD RS WITH 40000
sSHIFT RS BY 177765

%SvsﬂgsPS 0?

; THE_PS IS NOT EQUAL TO O
:1S THE RESULT I0?

;RS 1S NOT EQUAL TO 10
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0 0a P P Pt D Pt s Do Pt

S0
——
LM

010701
012705
gvesa?
013767

001401
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001401
000000
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012705

072527
013767
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001401
000000

001401
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MRINDEC-11-DCKBI-B ASH TEST
(B18.5RC

040000
177766
177776
000000

000020

040000
177767

000000

000040

040000

000100

KO4

MRCY1l 27(732) 01-0CT-?6 13:03 PAGE SO

5 SHIEAEARIE 0000 3030 30 00 06 3030 9000 36 36 96 30 00 30 36 30 90 0030 00 30 36 8 30 00 96 3638 30 96 96 3036 00 30 30 3030 36 30 6 0 31 30 30 3 36 36 30 00 3 36 31 36 36 0 36 30 34

;TEST 205  ASH 40000 SHIFTED BY 177766 = 20 PS = 0
P O O H O R R R R R R

SCOPE

MOV $40000, %S :LOAD RS WITH 40C.0

ASH 8177768, %5 :SHIFT RS BY 177766

MOV 33PS, PSH :SAVE PS

CMPB  ®0,PSW :1S THE PS 07

8EQ .44

HLT s THE PS 1S NOT EQUAL TO O
ggg :gg,zs :I1S THE RESULT 207

HLT :RS IS NOT EQUAL TO 20

§ SIS IS 3T 06 30 00 36 36 36 36 3038 36 30 30 36 30 38 3636 o6 30 36 30 3 30 3t 30 06 36 3636 36 30 36 36 36 30 30 3 6 3 06 30 36 30 30 30 36 3 30 00 30 3 300 00 30 3

s TEST 206 ASH Y0000 SHIFTED BY 177767 = 40 PS = O
SRR U O

MOV $40000, %S :LOAD RS WITH 40000

ASH 8177767 ,%5 SHIFT RS BY 177767

MOV 3#PS, PSH :GAVE PS

ggge ao PSUW 1S THE PS 0?

HLT -THE PS IS NOT EQUAL TO O
525 czg,zs ‘1S THE RESULT 40?

HLT : :FS IS NOT EQUAL TO 40

o SRR I 0BT IE 36 0 00006 30 300 00 00 36 00 00 3000 36 00 36 30 90 30 030 36 36 30 30 30 8 38 36 30 36 30 30 30 30 36 30 36 30 90 30 3 30 36 36 30 30 0 0 0 30 30 36 34 0

:TEST 207  RSH 40000 SHIFTED BY 177770 = 100 PS = O
e T e T I AT It e TR e e et

SCOPE

MOV 40000, %S :LOAD RS WITH 40000

ASH 2177770, 75 sSHIFT RS BY 177770

MOV J#PS, PSU :SAVE PS

CMPB  #0,P5W :1S THE PS 07

BEQ .+

HLT s THE PS 1S NOT EQUAL TO O
SEE '130 %5 s IS THE RESULT 100”

HLT :RS IS NOT EQUAL TO 100




(1]

MRINDEC-11-DCKBI-B ASH TEST

DCKBIB.SRC
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001644
001636

001540
001532

¢ SRR I I I I I B IS I 000036303030 030 00 0033 030030 30 T 03 33 0
:TEST 210  ASH Y0000 SHIFTED BY 177771 =200 PS =0
SEEEHHEHH U HHH I HH

SCOPE
MOV 840000, %5 :LOAD RS WITH 40000

ASH 8177771, %5 :SHIFT RS BY 177771

MOV 34PS, PSH :SAVE PS

ggpe ogqpéu :1S THE PS 07

HL :THE PS IS NOT EQUAL TO O
ggs :ggo,xs :IS THE RESULT 2007

HLT ] -RS IS NOT EQUAL TO 200

5 SO0 0030 06 30 06 36 96 30 036 38 36 36 00 06 36 36 3636 36 06 36 36 06 36 30 6 36 3 36 90 36 36 30 30 036 36 06 30 36 00 0 96 36 3000 30 30 36 30 0 3 36 06 00 36 3t B

;TEST 211  ASH 40000 SHIFTED BY 177772 = 400 PS = 0
S HEHEHEHHH O OO

MOV #40000, %5 ;LOAD RS WITH 40000

ASH 8177772,%5 SHIFT RS BY 177772

MOV 34PS, PSW AVE PS

CMPB  80,PSuW IS THE PS 0?

BEQ .+

HLY :THE_PS IS NOT EQUAL T0 O
ggg 3330 %5 s 1S THE RESULT 4007

HLT :RS IS NOT EQUAL TO 400

5 S 33330 33X 30 30 36 30 38 36 36 36 36 38 36 36 36 36 38 36 3036 36 90 36 00 36 30 36 0 30 30 30 6 036 330 36 30 36 30 30 36 336 3630 3090 36 00 30 0 30 3 0 0 2 2t

:TEST 212 ASH 40000 SHIFTED BY 177773 = 1000 PS = O
SRR EHHHEG HHEOHH O O

SCOPE

MOV 40000, %5 sLOAD RS WITH 40000

ASH 8177773, 75 :SHIFT RS BY 177773

MOV 38PS, PSH :SAVE PS

ggge ooqpéu 1S THE PS 07

HLT : THE_PS IS NOT EQUAL TO O
ggz oigoo,zs :1S THE RESULT 10007

HLT | :RS 1S NOT EQUAL TO 1000
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DCKBIB.SRC

Kot

(wlelolelo/elelgelelea)
Pt Bt Pt B Bt Bt Bt Pt Pt P
NN

(NN

P

o0

SRAN

12334

DODOEQDDDD
n

010701
012705
972527
013767
122767
001401
000000
022705
001401
000Co0

010701

010701
012705
25¢e7

g7

013767
122767
001401

022705
001401
Co0000

040000
177774
177776
000000

002000

040000
177776
177776
000000

010000

MOY

MRCY11l 27(732) 01-0CT-76 13:03 PRGE S2

§ JE30E A 0000 30 36 36 06 06 6 36 36 06 96 3 36 96 90 30 8 36 366 30 35 96 96 6 3698 30 36 38 36 06 30 6 38 96 9036 36 36 36 303036 36 36 34 3136 36 30 9038 3 34 3630 38 36 S 8

;TEST 213  ASH 40000 SHIFTED BY 177774 = 2000 PS = O
T T T T e

SCOPE

MOV $40000, %S :LORD RS WITH 40000

ASH u177774 %5 surrr RS BY 177774

MOV PSH :SAVE PS

CMPB oo Péu +1S THE PS 0?

BEQ 44

HLT :THE PS IS NOT EQUAL TO O
323 oggou,zs :1S THE RESULT 20007

HLT RS IS NOT EQUAL TO 2000

3 03300636 36 36 0036 36 36 396 36 06 36 36 06 3636 36 96 38 36 30 6 6 36 36 36 36 36 30 36 3096 3 30 36 36 36 36 30 3638 36 36 36 30 30 30 3036 36 36 36 30 36 30 3 36 36 34 36 36 30

:TEST 214  ASH 40000 SHIFTED BY 177775 = 4000 PS = O
PR OO O

SCOPE

MOV $40000, 5 :LOAD RS WITH 40000

ASH 8177775, %5 SHIFT RS BY 177775

MOV a8PS . PSH :GAVE P

CMPB  80,P5u 1S THE PS 0?

BEQ .+

HLT -THE_PS IS NOT EQUAL TO O
SES '1890 %5 *1S THE RESULT 40007

HLT :RS IS NOT EQUAL TO 4000

5 S5 B 3030 06 36 3896 06 9 6 36 36 96 36 8 36 36 36 36 6 30 36 06 3 36 36 30 0036 36 36 30 30 6 06 0 00 6 36 90 36 3636 30 30 36 36 36 30 00 3 3630 00 00 36 30 00 30 30 30 3 ¢

;TEST 215  ASH 40000 SHIFTED BY 177776 = 10000 PS = 0
L HEEEEHEHHEHEEHOHEHHEHHOHEBHOHHHEHHEHOHHOHEHHE OO OO

SCOPE

MOV 40000, %5 :LOAD RS WITH 40000

ASH $177778,%5 :SHIFT RS BY 177776

MOV 31PS, PSW :SAVE PS

EEEB uo PSW 1S THE PS 0?

HLT s THE PS IS NOT EQUAL T0 O
ggz nigooo,zs :1S THE RESULT 100007

HLT | sRS IS NOT EQUAL TO 10000
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DCkBIB.SRC

O0O0000000000

P Pt ae Pt P P Pt Ps P P

£ 4L L r-ﬁ-‘: FRNIN
n

0lz474
012476

010701
012705
072527
013767
122767
001401
000000
022705

001401
000000

010701
012705

013767
122767
001401
000000
022705
001401
000000

040000
1777277
177776
000000

020000

040000
000000
177776
000000

040000

100000
177761
177776
000010

1772777

NO4
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001330
001322

001266
001260

001224
001216

$ JIIIENS 00 I I IO I I 30O BB B S I3 06 3036003030306 3030303036 03000330333 33 33 3
:TEST 216  ASH 40000 SHIFTED BY 177777 = 20000 PS = 0
SEEEHEEEHE R R SRR

SCOPE
MOV $40000 /s :LORD RS WITH 40000
ASH $17777%.%5 ‘SHIFT RS BY 177777
MOV 2%PS, PSH :SQVE PS
CMPB  %0,PSW :1S THE PS 0?
BEQ .44
HLT :THE_PS 1S NOT EQUAL TO O
ggg oeguoo,xs '1S THE RESULT 200007
.+
HLT :RS IS NOT EQUAL TO 20000

§ 3330 330 30 26 30 36 38 36 38 3636 36 38 38 36 36 36 38 36 36 36 36 36 38 36 38 36 36 30 36 30 36 30 30 36 36 3606 36 00 36 36 36 06 3090 6 00 06 30 0 36 00 30 3 0 2

;TEST 217  ASH 40000 SHIFTED BY O = 40000 PS = O
LEEEHHOHOHE I O B O O R

SCOPE

MOV uqoooo %5 :LOARD RS WITH 40000

ASH *SHIFT RS BY O

MOV a:Ps PSW *SAVE PS

ggza nquSH :15 THE PS 07

HLT :THE PS IS NOT EQUAL TO 0
ggz czgooo,zs :1S THE RESULT 40000”

HLT ] RS IS NOT EQUAL TO 40000

l*li!!!*l!ll!l*ill!!li!!!f!ll!**!iii*ll!!!*l*!!**il*l**!!lll!*liZ!i!

STEST 220  ASH 100000 SHIFTED BY =15, = -1 PS =
*******l****!*!i!*l*!!&*!ll!*!l*!li!!!*!l!!!!i!!!i!!i!i*!ii*i!!i!*l*

SCOPE

MOV uxooooo %5 :LOAD RS WITH 100000

ASH -15. 4% suxrr ns gY -18.

MOV J8PS PS :SAVE P

ggge 010 Psi :1S THE PS 107

HLT ; THE_PS IS NOT EQUAL TO 10
EES o:&,zs :1S THE RESULT -1?

HLT ;RS IS NOT EQUAL TO -1
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88
a3

e

CRERFERPESREPRRER PR RERERRRARRERRRRRRERREE RN R RS RN R RERRRD SRR B RS

:TEST 221  ASH -1 SHIFTED BY 1S. = 100000 PS = 11
L T e e e T P M T A A T R A T

SCOPE

MOV 8-1,%5 :LOAD RS WITH -1

ASH 815, ,%5 snm RS BY 18.

MOV 38PS PSW :SAVE PS

gﬁnza m PSK 115 THE PS 117

HLT me PS 1S NOT EQUAL TO 11
gcnz oigoooo,-/.s 15 THE RESULT 1000007

HLT ) ;RS 1S NOT EQUAL TO 100000

lﬁllllllillllllllili!ll!lliilillil'!llilllliil!§llll§*§!!§ll&!§*!li!

;TEST 222 ASH -1 SHIFTED BY 16. =0 PS =
ll{lllllllill!iilll!iiii!!l!li!!!lll!!l!!!i!llliliilii!iillil*!li!*l

SCOPE

MOV 8-1,%5 :LORD RS WITH -1

ASH 816.,75 SHIFT RS BY 16.

MOV 8PS, PSW :SAVE PS

ggnaa cquéu 1S THE PS 77

T - THE PS IS NOT EQUAL TO 7
1.2 80, %S 1S THE RESUWLT 07

BEQ L +4

HLT RS IS NOT EQUAL TO O

llllll!Illlllllll!l!lllillﬁi!llllilill!li!i!ilill!!li!!llili!iiii!li

:TEST 223  ASH 137777 SHIFTED BY 1S. = 100000 PS =
ll!lll!!lil!llll!llllll!ilillll!{!!lli!illlillliil!iil!!ii!lil!l!i*{

SCOPE

MOV 8137777,%5 :LOAD RS WITH 137777

ASH 815, %5’ sum RS BY 15,

MOV 38PS’ PSW PS

%a us Psi xs THE PS 137

HLT s THE PS IS NOT EQUAL TO 13
55"3 clgoooo.-/.s :1S THE RESULT 1000007

HLT : RS IS NOT EQUAL TO 100000
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SERRRRRERAEREREENEREERERR NI 0030000000030 30 35 30 30 00 30 30 000 30 30 30 30 3830 36 30 30 o 34 30 30 34 30 34

;TEST 224  ASH 125252 SHIFTED BY 1 = S2524 PS = 3
PREREEERREE AR SRR S R S

SCOPE

MOV uesasa %S - LOAD RS uxm 125252

ASH %5 sm RS BY

MOV aobs PSW :SAVE PS

ggga “‘Péu 1S THE PS 37

HT ) :THE PS IS NOT EQUAL TO 3
geng asasew 4,45 :1S THE RESULT 526247

HT ) RS IS NOT EQUAL TO S2524

!l!!!!Illllllli!i!liillilllllil!l!l!illllli!!illlill!ll!lilill!illl!

;TEST 226 RSH 125252 SHIFTED BY -1 = 152525 PS =
ll!!!i!&i!ll&!lll*ilii!iill!!llililli!i!ii!illlll!*illill!!!ll!ll!!!

SCOPE

MOV 8125252, %5 :LOAD RS WITH 125252

ASH 8-1,%5 *SHIFT RS BY -1

MOV aePs, PSu :SAVE PS

gsnga '10 "PSi :1S THE PS 107

HLT ] :THE PS IS NOT EQUAL TO 10
g{n; oigeses,-/.s 1S THE RESULT 1525257

HT ) :RS IS NOT EQUAL TO 152525

o SR RIS A 2t 36030 03 30 00 8 0 B S U0 38 36 3000 00 00 3048 06 0000 30 38 36 S8 36 0 0 0 36 330 31 38 3 38

;TEST 226 ASH 125252 SHIFTED BY -2 = 165252 PS = 11
S HHHHEHE I HHHH S HHEHEHHHHEHEHHEHEHHEHEHHEHHHEHH B HHHEH

SCOPE
MOV 8125252, %5 :LORD RS WITH 125262

ASH $-2,%5 :SHIFT RS BY -2

MOV acps PSW :SAVE PS

g{n;a m PSid 15 THE PS 11?

HLT :THE PS IS NOT EQUAL TO 11
55"6 oissasc.zs 1S THE RESULT 1652527
HLT ) :RS IS NOT LQUAL TO 165252
MOV 8-7,74

MOV 051 72

MOV ISE %3




MAINDEC-11-DCKBI-B RSH TEST

DCKBIB.SRC
013572 010701
Uig??ﬂ 01?709
ol 815
013112 682757
013ie0 1401
013122 000000
013led 022700
013130 001401
013132 000C00
0i3134 010701
01313 012700
013142 072077
01314 013767
013154 122767
013162 001401
013164 000000
013166 022700
013172 001401
013174 000000
013176 010701
013200 012700
013204 072037
013210 013767
013216 122767
0l3224 001401
0i13226 000000
013230 022700
013234 001401
013236 000000

125252
l
0C010

177825

125252
177776

;

177525

MACY1l 27(732)

000632
000b4

000570
000562

DOS

01-0CT-76 13:03 PARGE 56

;ERREREREARE AR AR ERRERRERRRAERRRERARRERA R NS ERRRRRRERERERFRRRRHEREHEE RS

;TEST 227  11/40 ASH
T T T L A e e e e M e e I T T

SCOPE

125252 SHIFTED BY S1 = 177628 7S = 10

8125252, %0 :LORD RO WITH 125252
Si,%0 sum RO BY Sl
dsPS . PSH SAVE PS
'10  PSid xs THE PS 107

:THE PS IS NOT EQUAL TO 10
ciq'nsas.zo :15 THE RESULT 1775267

;RO IS NOT EQUAL TO 177525

JERERRFRERSRERRERRERBEREREREREREPREERREE TR 5 TR0 000 30 306 010 36 3 3

sTEST 230  11/40 ASH
DREREEREREEHEHEEE R R U R

SCOPE
MOV

e&sse&géﬁ

125252 SHIFTED BY @S2 = 1775¢S PS = 10

8125252, “0 ;LOAD RO WITH 1252S2

352, %0 :SHIFT RO BY @S2
a3PS, PSu :SAVE PS

'iﬂ'ps“ ;1S THE PS 107

) <THE PS IS NOT EQUAL TO 10
oiysas,-xn 1S THE RESULT 1775257

;RO IS NOT EQUAL TO 177525

¢ SRR N I I 0 3 3 00 00 0 0 O 0 i S0 0 0 8 0 3000 00 30 30 S0 TR 00 30 0 O 0 30 30 30 00 30 0 4 30 3 0 6 3 3

:TEST 231  11/40 ASH 126262 SHIFTED BY 3851 = 177525 PS = 10
!lllI!!l!ll*lliilillll!illlI!Illlll!l!liil!llli!lll!li!lllli{!ll!l!!

SCOPE

MOV 8125252, %0 :LORD RO WITH 125262

ASH 3151, %0 sum RO BY acsx

MOV F ' GAVE PS

g{n;e 810, PSid 1S THE'PS 107 -

HCT ) :THE PS 1S NOT EQUAL TO 10

35"3 o%‘/sas,w 1S THE RESULT 177525”

HLT | RO IS NOT EQUAL TO 177525




EOS

MRINDEC-11-DCKBI-B8 RSH TEST MRCYLl 27(732) 01-0CT-76 13:03 PAGE 57

DCKBIB. SRC

ii!!ill*!i!li!!liiiiii!l!i!l!Iiii!!!l!l!f!i*iil&llii!i!!&ill!!l!lli*
TEST 232  11/40 RSH 125252 SHIFTED BY %4 = 177526 PS = 10
l!llili!!ll!l!!i!!lll!l!lllliIl!llilllllllllilll!!ll!lliil!l!!l!!!l!

013240 010701 SCOPE

013242 012700 125252 MOV 8125252, %0 :LOAD RO WITH 125252

0133528 72004 ASH %4 %0 :SHIFT RO BY %4

01 13767 177776 0DO4EH MOV 3sPS_ PSK :SAVE PS

013256 122767 000010 OOCu60 CMP8 810, PSK 1S THE PS 107

B! B g

1 HL :THE PS IS NOT EQUAL TO 10

013270 022700 177525 CHP 8177525, %0 ‘1S THE RESULT 1775257

013274 0OIN01 BEQ LY

013276 000CO0 HLT RO IS NOT EQUAL TO 177525

SERBRRERIET I IS 0003 0000 3008 000 30 00 30 38 36 36 3 30 36 36 96 08 36 0 0038 36 9590 98 6 3 36 48 98 38 98 30 38 36 96 36 3% 3 4 3% 3

;TEST 233 11/40 ASH 125252 SHIFTED BY (2)+ = 177525 PS = 10
S EEEHEE R RO R R

:3300 010701 SCOPE

013302 012700 125252 MOV 8125252,40 ;LOAD RO WITH 125252

013306 (072022 ASH  (2)%,%0 NPT ROBY (£33

013310 013767 177776 000426 MOV JuPS,PSW :SAVE PS

013316 122767 000010 000420 ceP8 810, Psu 115 THE PS 107

013324 00140} BEQ .44

Qi3 HLT HE S 15 NOT EQUAL 10 10

913 177525 C%  8177525,%0 EETIE AEslLr 1ovess)

013334 00140} BEG .44

01333 000000 HLT ;R0 IS NOT EQUAL TO 177525
s IR I3 333 0 363 2 06 3 330 0 B30 30 3 0 00 30 36 30 90 36 S0 36 30 00 3 30 38 30 8 9 36 3036 3 00 3 330 36 0 3 38 3 %
'TEST 234 1140 RSH 125262 SHIFTED BY -(2) = 177525 PS = 10
!lilli!ll!lill!!llil!!!llli!ilill!il!!lli!ii!l!illlIiiili!lill!!!!ll

D132 Do) 128282 Ry $125252,%0 MITH 125252

Qlade Qregde ASH (5778 %um?;go

0l 1 177776 DOO386 ROV 3spelpeu

013356 122767 000010 000360 e el0, psid 136 THe S 107

Q13%y QOl40l BEQ

013366 HLT ;THE_PS IS NOT EQUAL TO 10

13370 022700 177525 CHP 817752570 ;1S THE RESULT 177525

L3374 0O140] BEQ .44

01337 iS00 HLT ;RO IS NOT EQUAL TO 177525
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MAINDEC-11-DCKBI-B ASH TEST
8.SRC

125252

MACY11l 27(732)

FOS

01-0CT-76 13:03 PAGE S8

i dstd il il it diliilittiadidsddliaditlatittdssdsslidtinstidited

TE.- 23%

11740 RSH

125252 SHIFTED BY 2(3) = 177252 PS = 1}

'l!i!iii!!!!!!!iil*!!il!l!il!ii*il*l*ll!!!lllilillii!***l*i*l!i!i!i!

YT oonzay

177252

B

:

177525

125282

177776
000010

177525

IIESESE 70 ;LORD RO WITH 125252

EHIFT RO BY 2(3)
;1S THE'PS 117
; THE PS 1S NOT EQUAL TO 11

Ilz7252,20 ;1S THE RESWLT 1772527

;RO IS NOT EQUAL TO 177252

3 SRR I I I3 30 30 38 06 36 30 36 3636 36 6 38 0 06 36 36 36 30 36 38 36 96 2 9 36 96 S50 30 30 36 3¢ 36 9 96 36 9 36 3636 36 3¢ 36 3 9 9 9 36 3¢ 3¢ 3¢ 3¢ %

11740 ASH

125252 SHIFTED BY &(3) = 177525 PS = 10

Iil!ll!illl!l!!illi!iiliilill!!l!ll!lll!!liillllil!ll!!!!!!lll!l*!*l

9(3), %0’
93PS PSW
010 pSi

$1252Se, “0 ;LORD RO WITH 125252
:SHIFT RO 8Y a(3)
;SRVE PS
;1S THE PS 107
; THE _PS IS NOT EQUAL TO 10
0137525,20 ;1S THE RESULT 1775257

;RO IS NOT EQUAL TO 177525

5 SRR S0 36 30036 39 06 36 36 36 36 36 30 38 30 36 06 30 36 36 30 30 38 38 36 36 214 30 96 36 36 96 36 38 38 36 96 9 36 90 36 36 36 36 36 36 38 38 0 3 96 3 36 36 38 3¢ 3¢ 36 3¢ 3

11740 RSH

125252 SHIFTED BY d(3)+ = 177525 PS = 10

iiiillf!i!i!!!l!**!!i*li!****i*!i!i*iii*lllliii!!iiiiiiiiil!*ii!ii!*

000316

s TEST 236
000262
000254

s TEST 237
000222
000214

gt

5252, %0 :LOARD RO WITH 125252
T surrr RO BY 3(3)+
nv; PS
:15 THE PS 107
THE PS IS NOT EQUAL TO 10
ng?sas,'/.o :1S THE RESULT 1775257

;RO IS NOT EQUAL TO 177525




GOS
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DCKBIB. SRC

!lil!llillll!ll!l!lllllllllllll!llllllllll!llli!lllll!ll!l’!l!l!!i!!
:TEST 240  11/M40 ASH 126262 SMIFTED BY &-(3) = 177525 PS = 10
H»l»l!llli!!ilil!*!liil*l!lll!!l!li!Iﬂll*i*!liil!!!*lli*!*!ili!i!!!li!

013544 (010701 SCOPE

013646 012700 125252 MOV 8125252, 40 :LORD RO WITH 125262

013652 9072053 ASH a-(3), %0 :SHIFT RO BY 3-(3)

013654 013767 177776 000162 MOV JWPS ASu : SAVE PS

oiasaa 122357 000010 0CO1S4 genga uo S :15 THE PS 107

81%2 HLT :THE PS IS NOT EQUAL TO 10

gigg %%’380 177525 grép qz?sas,-/.o : 1S THE RESULT 1775257

013602 ooaooﬁ HL RO IS NOT EQUAL TO 177525
li*!H»Hi*!!l!i*!l!ll&!l!!!l!ili!!lﬂl!ill!!li!!!i!ll!il!lillli!llii!i
rssr 241 CHECKS THAT RSH WITH DST MODE S RETURNS

oscnzrsmso OPERAND TO DST REGISTER

i!i!!&i!il»ili!lnlil!iiil!*lil!ii!i!l!ll!l!*llllillllll&!!il!l&!i!lil*
:NOTE: THIS ROUTINE DOES NOT HAVE TO PRSS IN SOME CRSES IN FIELD
:SERVICE ONLY. IT MUST PASS IN MANUFACTURING TO REFLECT ECO M7238-000M.
:SEE PARAGRAPH 9.1 AT BEGINNING OF PROGRAM FOR FULL EXPLANATION.

013604 010701 SCOPE

013606 012700 000100 MOV 3100, R0 :LOAD RO WITH 100

01312 012701 013636 MOV 80+2 Rl :LORD R1 WITH DST opsnnm

013616 072051 ASH 3-(1},R0 :SHIFT USING DST MODE

013620 022701 013634 CHP so RL’ : DECREMENTED OPERAND asrunnco 10 R1”?

013624 001404 BEQ PRSCNT : YES

01326 000000 HLT *R1 DOES NOT HAVE DECREMENTED OPERAND

013630 000402 BR PASCNT s BRANCH RHERD ON CONTINUE

013632 000003 .WORD 3

01363N 013%3R 0 WORD .-2

013636 005267 165136 PASCNT: INC ICNT

013642 016737 165132 177570 MOV ICNT, 38DISPLAY

013650 022767 020000 165122 CMP neoobo ICNT

013656 00 40; BEQ

013660 167 165152 JnP aec

013664 7 165110 CLR ICNT

013670 105737 177564 1518 anPs

013%™ | BPL

013676 112737 000007 177566 MOVE c7 38TPB :RING BELL FOR PRSS COMFLETE

013704 105737 177S6M 1518 ao'rPs

013710 100375 BPL

013712 112737 177566 MOVB ssa 38TPB ALSO PRINT '#’ FOR PRSS COMPLETE

013720 013700 000042 MOV awé %0 GET MONITOR RETURN ADDRESS

013724 DO140S BEQ :SKIP IF NONE

013726 RESET

013730 004710 SENDAD: JSR 7,(0) :G0 BACK TO THE MONITOR

013732 NOP

01374 000240 NOP

013736 40 NOP

013740 000137 000200 RGAIN: JMP 4200 sRESTART THE PROGRAM
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MAINDEC-11-DCkBI-B ASH TEST MRCY11l 27(732) 01-0CT-?6 13:03 PAGE 60

DCkBIB.SRC
013744 000000 PSW 0
Q13746 000007 S0: 7
013780 1777271 Sl: -7
013752 013750 Se: Sl
013754 177772 S3: -b
013756 00SO01S 041504 041113 MSGl: L.ARSCIZ («15>¢12>/DCKBI-B ASH INSTRUCTION TEST/<1S><12)¢<1d>
013764 026511 020102 051501
013772 020110 047111 052123
014000 052103 Q47511
014006 020116 0O42Se4 052123
014014 00S01S 000012

000C01 .END




OCKBIB.SRC

DISPLAR= 177570
DuMMY = 00O0C00
= 000000

;

;

MRINDEC-11-DCKBI-B ASH TEST

2957
182
178

1658
1678
1624

314
419
83

MACY1l 27(732)
CROSS REFERENCE TRBLE -- USER SYMBOLS

LN PONUNY == = s bt bt e

105

01-0CT-76 13:03 PRGE 62

"'U'-(J% ~NOUY
-8'—-*— e S I 1A
JO £ MG o

4
Q)

16478

23108
25314
27528




OCKBIB.SRC
PARSCNT (013636
PS = 177776
¢ PSW 013744
e 013634
R = 100000
RO =%00000C
Rl =7000001
RS =#000005
SCOPE = 010701

MRCYL1 27(732)
CROSS REFERENCE TABLE -- USER SYMBOLS

28574

MRINDEC-11-DCKBI-B ASH TEST

c08
430
b5l
872
1093
1314
{;35
19§§
2198
e419
cb40

2864
22b

345#%

448

cbb#

239
Y61
682

28744

23788
2599«

2c7
478
639

05

01-0CT-76 13:03 PRGE 63

ce9ls
242

7y
495
716

29084

20894
c4les
2b33s

edl
Sl2
733

29254

277
498
719
940
1161
1382
1603
824
045

17838
21068

24294

308
529
750

325
S46
767

4064

12738
14848
18174
2140#
2463s

Jue
S63
784

359
$80
801

376
597
818

c7HcH

4s7s

6788
10018
13248
16478
18688
2lsls
2514s

393
614
835
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DCKBIB.SRC

g
g

pom
O
w
ne
£

. = 014020

ASH TEST

852
1073
1294

{242
b1%

MRCY1l 27(732)

869
1090
1311
1948
é??q

95
2
!

2761
2778

2708
43le

1033

886

5
55
i1
£
T

2795
296848

c87s
S08s

7g9s
10%20
13758
16964
c02ls

cc42s
25654

KOS

01-0CT-76 13:03 PAGE &Y

CROSS REFERENCE TABLE -- USER SYMBOLS

903
lle4

1345
5
i
=
-

920
114
136

{283
5558

467
668
e9ie
198

2968

3218
S4cs
7638
{886!
8
17323
20558
23784
25998

937 954
e iz
B
e

RSH S0
705 72
2933
3384 3558
S594 5768
8828 8994

11038 11208
14268 14438

17498 17668
cd7cs 20894
23358 24lee
2bles 2633
1798 185
282 26
398 401
503 517
619 ka2
74 738
840 843
S 959
1061 1064
1166 1180
1ege 1285
1387 1401
1503 1506
1608 1622
1724 1727
1829 1843
1945 1948
2050 204
2166 2169
ee’7l 2285
2387 2390
c492 2506
2608 cbll
2713 2727
2832 2835
27 2951

971
1192
1413

1288
35

713

988
1209
1430

1833

2093
e3lM

£33

3898
610%
9338
1256%
14778
18008
21238
24468

4068
6278
950%
12738
14948
1817%
21408
24634

1022
1243
1464

1882

ele?
2348
2569
2793

4234
bu4s
9678
12908

184

21578
24808

4408
E61s
984 #
13078
16308
1851%
21748
24978

10S6
1277
1498
171
194
2161
2382
260
c8e

4574

6788
10018
13248
16478
18684
21914
25148




MRINDEC-11-DCKBI-B ASH TEST
CROSS REFERENCE TRBLE -- MACRO NAMES

DCKBIB.SRC

COMMEN 18
ENDCON 18
ESCRPE 18
GETPR] 1s
GETSWR 1s
T 18
NEWTST is
oP 1%
PRINT 172
S 18
REPORT 1%
SETPRI 18
SE TUP 18
SKIP is
SLASH 18
STARS 1s
SWRSU 18
TYPBIN 1t
TYPDEC is
TYPNAM 18
TYPNUM 1s
TYPOCS 18
TYPOCY 1s
TYPTXT 18
SASH 1718

440

695

950

12058

1460

17185

1970

222S

EHBE
SASHS 1718
SDST 1728
$SESCA 1s
SSNEWT 1s
$SSKIP 18
.EQUAT is
. HERDE 18
KT11 is
SETUP 18
. SWRH]I 18
.$ACT] 1s
.SAPTB 1s
.SAPTH 18
.SAPTY 18
.SASTA 1s
SCRTC 18
SCMTA 18
$0B2D 18
.$0Be0 18
.$C1V 1s
.SEQP 18

183

218
474
729
984
1239

1749
2204
2259
2514

2772

MACYLl 27(732)

1783

2548
2806

LOS
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287

1817
2072

2582
2840

372

627

882
1137
1392
1647
1902
2157
g4le
2bb?

389

BuY

899
1154
1409
1664
1919
2174
2429
2684

270!




MOS

MAINDEC-11-DCKBI-B ASH TEST MACY1l 27(?732) 01-0CT-76 13:03 PRGE &7

DCKBIB.SRC CROSS REFERENCE TARBLE -- MARCRO NAMES
.SERRO 18
. SERRT 18
SMULT 18
SPOKE is
SRAND 18
SPDDE Is
0C s
SRERD it
.$R2R2 18
.$SAVE 1t
.8$582D 18
.$SB20 18
.$SCOP 18
.SSI1ZE ls
. SSUPR is
STRARP 1s
STYPB 1s
STYPD 18
STYPE is
STYPQ 18
. S40CA 18
1170 s




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

RSH

BEGC

BIT
BPL

CLR
CHP

cHPB

207
46
71
973
1228
1483
1738
1993
2c48
2503
2761
182
299
432
SSH
687
809
42
1064
1197
1319
1452
1574
1707
1829
1962

saq
338
990
1245
1500
1755
2010
5265
520
2778
187
313
435
S68
630
823
945
1078
1200
1333
1455
1588
1710
1843
1965
2098
ecel
2353
2475
2608
2730
2866

24l
497
752
100/
1262

MACYll 27(732)
CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS

259
14
69

1024
1279
1S34
1789
2044
€299
2SS4
e8le

197

330

452

€8S

707

840

9u2

1095
1217
1350
1472
1605
1727
1860
1982
2115
cc3?
2370
2492
2525
2747
2883

276

334

1041
1296
1551
1806
206l
2316
2571
282’
210
333
466
588
721
843
976
1098
1231
1353
1486

NOS
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233
303
1058
1313

1568
1823

1999

2900

310
S6
82
1075
1330
1585
1840
2095
2350
2605
2863
ee?
350
483
805
738
860
993
1115
1248
1370
1503
165
1758
1880
2013
2135
2268
2330
2523
2645
2781
2303

27 M
292 &3
B4

1032 1109
197 1369
1602 1619
1857 1879
2llp 219
237 2384
2622 2639
2880 2897
230 24y
B4 367
uge 500
619  be?
741 755
87y 877
936 1010
1129 1132
1251 1265
1384 1387
1506 1520
1639 1842
1761 1775
1894 1897
2016 2030
2149 2152
2271 2285
24904 2407
2526 2540
PESY  26bP
2784 2798
2317 2920
315 33
570 587
825 842
1080 1097
1335 1352
1590 1607
1845 1862
2100 2117
2365 2372
2610  2b27
28e8 2865
g 346
584 60l
B33 856
1099 1111
193 1386
1604 162l
1859 1876
o114 213l

2302
2424

24?7

395

gs0

90
1160

400

910
1165
1420
1675
1930
2185
2440
et 5
2346

414

669

1179
1434
1689
1944
2193

446

1211

43y

944
1199
1454
1709
1964
2el9
47y
2728

Y48
703
958
1213
1468
1723
1978
2233




BO6

MRAINDEC-11-DChABI-B RSH TEST MRCYIL 27(732) 01-0CT-76 13:03 PAGE 70
DCABI18.SRC CROSS REFERENCE TRBLE =-- PERMANENT SYMBOLS

cesS0 2267 228y 230! e318 ¢33 2352 2369 2386 g403  24el 2437  g4Sd 2474
S§gg €533 2556 2573 2590 2607 2624 28yl cbS8 2675 2892 2709 2726

2 : 2°97 2814 2831 2848 28BS 882 2893 2916

HALT 162 167 171

ING 2944

k) 178 2:8  2%3

ISR 2359 X

oV 183 191 195 206 208 223 225 240 @4 258 20 275 277 2%
309 311 3% 38 33 M5 W0 2 377 39 I™ 0 3% 41l 413
430 W48 44?462 44 473 98I 496 498 513 §l5 530 532 547
Sty 56 581 583 598 600 b 67 632 M  B43  B5I bbb
§8s 00 s02 717 719 7™ 7% 781 753 7e8 770 786 787 802
B19 B2l B3k B3 853 855 820 872 887 889 904 906 921 923
40 955 957 972 974 983 931 100 1008 1023 1025 1040 1042 1057
107% 1076 1091 1093 08 1110 1125 1127 1192 1144 1159 1iel 1176 1178
1198 1210 12i2 1227 1329 1244 129 1261 1263 1278 1280 1295 1297 1312
1329 1331 13 138 1363 1365 1380 1382 1397 1399 144 1406 [431 1433
1950 1965  1#7 1982 1484 1499 1501 {516 1518 1533 iS35 1580 1582  1Sh7
1584 1586 1601 1603 1618 1620 1635 1637 1652 1654 1669 1671 1686 1688
1706 1720 1722 1737 1738 17549 1756 1773 1773 1788 1790 i80S 1807 1822
1833 1e4] 1856 1858 1873 1875 1890 1892 1907 1909 1924 1926 1941 1943
19%0 1975 1977 1952 1994 2009 2011 2026 2028 2043 2045 2060 2082 2077
209 20% 211l 2113 2128 2130 248 2147  olee 2led 2179 2181  21% 2198
2216 2230 2232 o247 o2M9 o264 ooeb  e28] 0283 298 2300 23S 2317 23k
2MG 2351 g%kb 2368 2383 2385 2400 24902 2417 M1 2Y3M  PM3b 2451 453
2470 2485 o487 2502 250M 2519 2521 2536 o538 2553 555 2570 o572 29587
2604 2606 b2l ob23 2638  oeM0  oBSS 2657 o672  ob74 o689 2691 2706 2708
275 2M0 g2 grse 2753 27oM B0 2762 2777 2779 @7  27% 2811 2813
2830 2845 Q847 oBbe oged o679 2881 2 2898 2913 29i5 2934 2938 25

MCVB 188 198 %2 2955

NP 2%5 2%l 0%

RESET 2958

1578 1IN 186 2950 2953

.RSC1Z 2970

JENABL 1 158

N1, N e/

JITF 201 218 23% 263 270 287 3™ 321 33 }dS 32 3\ 406 423
457 474 491 5o €25 G4z 559 575 533  bBl0 627 B b6l 678
72 729 ™6 763 780 79; Bl4 B3 B48 BeS 882 893 916 933
%7 984 100] 10i8 1035 1052 1069 1086 1103 1128 1137 1159 1i2i 1188
1222 129 1256 1273 1 1307 1324 I3d1 IS8 1375 1332 1409 1426 1443
177 1934  1Si]  1S28  IS4S  186¢ 1579  15%  1b13 1630 1847 1664 1681 1698
172 1749 176b 1783 1800 1817 183 1851 1868 188 1302 1919 1936 1953
1987 2004 2021 2038 2055 2072 2106 2123 2140 2157 2174 2131 2208
o2 2259 2276 2293 2310 2327 234 23] 2378 2395 M2 2M29 2446 oue3
2497 2514 531 @598 2565 2582 2599  2ble  2b3d o650 2bb? 2684 2701 o718
2755 2772 @789 eo80b 2823 2G40 2857 2874 2891 2908 2925

LIST 1 14 1741 2l8 @23% @2 53 270 287 304 321 338 3‘E IR
4o 423 44D 957 474 43) 525 42 859 576 533  BlD b7
Bl 678 B 71 729 746 763 780 97 B4 B3] B98  865 882
91p 933 950 % 984 100l 1018 1035 1052 1089 1086 1103 1120 1137
171 188 1208 1222 1239 lesé 1273 1290 1307 1329 1M1 1388 1378 13%@
1426 1443 1460 1477 [494  IS11 152  IS48  18B2 1579 1596  1Bl13 1630  16W?
1681 1698 1716 1732 1799 1766 1783 1800 1817 18  18S1  1Be8 1885 1902
1935 1953 1970 1987 2004 2021 2038 2055 2072 2089 2106 2123 240 2157
2131 220B 2225 2242 2259 2276 2233 310 2327 234 23l 2378 23 2412

. - e —— i — —— —— S—— e —
L]




COb6

MAINDEC-11~DCKBI-B ASH TEST MRCY1l 27(732) 01-0CT-76 13:03 PRGE 71
DCkBIB.SRC CROSS REFERENCE TABLE -- PERMANENT SYMBOLS

2463 g480 2497 esiy 253! 2548 2565 2582
e’ 2752 e’7e 2789 2806 2823 2843

n
3
e
n
~
Py
<D
b

.MACR 17 172
.HRCR? l
LIS 1 154 171 cl8 235 2se 2s3 g70 4:14
406 423 Y40 457 474 49] S08 5% S4e
661 678 695 712 729 746 763 780 797
916 933 950 %7 984 1001 1018 1035 1052
1171 1188 1205 lege 1239 1256 1273 1290 1307
1426 443 1460 1477 1494 1511 1528 1645 1562
1681 1698 1715 1732 1749 1766 1783 1800 1817
1336 1353 1970 1387 2021 2038 2055 2072
219} 2208 22es 2c4e 2259 2276 2293 2310 23e7
2446 c4e3 2480 e437  2SlY 2531 2548 2565 2582
2701 2718 2735 2752 erze 2789 2806 28e3 2840
PRGE 201 253 304 355 406 457 So8 S59 610
%7 1018 1069 1120 1171 1222 1273 1 324 1375
1732 1783 1834 1885 1936 1987 2038 2089 2140
2*91 2S48 2598 2650 270! 2755 2806 egs? 2908
T 171 253 S08 88z 1256 1630 2004 2378
TITLE 154
WORD el 2Me

DEFAULT GLOBALS GENERATED: O
1







